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el BEARCAO Hol2d (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXSTN AZHl XA (BS3)
2,400,000 1790 2 40,800
OF2T N BE2 A2 HH X
900,000 *6IH A 5,400
OX2EA2 SASORIXIZH K&
800,000 *30H A 2,400
04 QIZHHAMAIRH 2 & 13,000 0 13,000
OX2TAME B AKX
13,000,002 13,000
402 DIZHXHE0| A 86,800 08,640 £21,840
01 BIIXHE AN 2 (R TR 86,800 108,640 A21,840
ORSTAZ TA Y AIIXE
3,100,000 «287H 2~ 86,800
H2EM2 THl XI&A 51,600 61,334 N9, 734
S 15,480
Al 36,120
201 er23 | 2,500 2,800 A300
= 750
Al 1,780
01 At2teltl 2,500 2,800 A300
ONRSTAZ TATY FIIHG X 0+3
=l 2,500,000 2,500
=S 750
Al 1,750
405 KHaHE SH 49,100 58,534 A9,434
< 14,730
Al 34,370
02 =A-ebl 49,100 58,534 N9,434
ONSTAZ TATY FHIIUG X
49,100,000& 49,100
= 14,730
Al 34,370
CA2 HEdst 60,367 91,430 A31,063
201 fer=3| 33,867 51,030 17,163
01 Al 22IH| 25,542 24,480 1,062
OSMBHH a0 H
70,0002 %147 2+90% 882
OAIZIFNARE 2E
100,000 x 10 +63] 6,000
OEANZ E2=3 NH
20,0003 x1907H+90% 3,420
O=KIE FSA BEH
100, 0002 x20JH*90f% 1,800
O= A2 AKX M=
4,000 *1,900590% 6,840
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Chel: EFAYTARO B2l2Y (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O A2t AAMX |DR(H2IY)
300,000 *7& 2,100
ORHre JIEES AZEN 78
2,500,000 *1H 2,500
OEAM2t NSAEZHZX 3=
50,0003 x8H+5 2,000
02 S5=g4l 2,000 12,000 10,000
OX= Hel= TAl o3l 3l
2,000,000 2,000
03 &A=& 6,325 14,550 N8,225
OFEFAl NGNS FMEEZ] 4,000
OZMEED EENESE
500,000 x8H 4,000
O=A0ItEN2 =& 2,325
SLEOVPIEES 15,0002+1251 1,875
Osl+9 & cIER MH
500, 000 *90% 450
203 gF=4| 4,500 5,000 A500
EESSEEESI 4,500 5,000 A500
OSMHZ 2% ULEx
5,000,000 *90% 4,500
207 ARl 22,000 30,000 /8,000
02 MAHHEHI 22,000 30,000 /8,000
OSAOCtE AA” 7=
22,000,000 22,000
SSUA MBI 239,800 237,140 2,660
201 et 3| 219,800 220,500 AT700
01 At22t2l] 219,800 2,500 217,300
OASUI MHIA AAISE(2EHIES)
100, 000& *269H 2 2,600
OUSUA MHIA FXI2te]
8,353,810& «2600 £ 217,200
301 EtE2 NS 20,000 16,640 3,360
4Bt 2as 20,000 16,640 3,360
OdSUA H2 A2 THEASAHA 2S4|
20,0002 x4 #2502 20,000
CA2 ANEF X2 813,8% 1,004,822 A190,927
= 120,000
Al 693,895
201 er23 | 305,387 315,314 29,927
2 35234l 305,387 315,314 N9,927
OAEEHISs Xl 305,387
Od== RAE=
7,191,900 « 1404 2~ 100,687
OJNAL B, ALAE SN2+
11,000,000 * 1404 2= 154,000




SN SNBHASSRR ABEHR
M ZRC NP 29
el BEARCAO Hol2d (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=AMat ZF2tel
1,300, 0002 139 A +33] 50,700
206 M=l 13,508 17,508 24,000
01 M=4l 13,508 17,508 24,000
od=s 2 =3 75,0003 %1404 A 1,050
OJIA, &I, A8 22285
889,800 * 1404 A 12,458
401 AlZHIZL S0 495,000 672,000 A177,000
= 120,000
Al 375,000
01 Al&H| 480,000 662,000 182,000
OMHATAZ S& U L2t Y2TA
40,000,000 40,000
OSSN N2 SHEA YT A
20,000,000 20,000
OQEZ=T A2 00l 2 2at82t &
HSA 60,000,000 60,000
OESTAZ 2Y 20 RIS
20,000,000 20,000
OZ2IHAD X2 HAZA
55,000,000 55,000
OFFAIS A HEI| WHA
285,000,000 285,000
= 114,000
Al 171,000
02 Zeltl 15,000 10,000 5,000
OFFANE A S| WHALE
15,000,000& 15,000
[ 6.000
Al 9,000
ANEES 2g2¢c 307,199 405,028 A97,829
201 er23 | 307,199 213,177 34,022
01 At2teltl 306,987 272,975 34,012
oOfIEnS 456
O&I| otM 22| At 105,800 x2&H 212
OsSJ|& Agot™ 2L X}
211,500&+1 212
OsdJl etd2e|Xt 32,0003 +1 32
OstEs o HAEF(55)
600, 0002 *55+90f% 2,700
owemE4)| 2=
16,5002 x202+ A *90% 297
O3 4 ¢ M=Xx, SUHss2 =23
At 556,500@ x 109 2+22] 11,130
O=ANZ HUBII28E 5E
612,2002 *40H A 2,449




SH: CARBMSIEER AYCAB
B DEZCNZ 2
el BEARCAO Hol2d (cre): 2ig
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
CEREESIFTIERETY
677,250 x60H 2~ 4,064
O A& JtAHHl EIIZA
111,300 *20H 2 223
OTME 52T BII2IA
166,950 *26CH 4,341
O N2 BIIHEHEH(BBAES)
9,190,000 *2IH A 18,380
OANEEAZ RO =2 22,928
Osd)| AL =2 5,289
-JIE EA 278,300 =2CH+6E 3,340
-2AAl EA 278,300 1 CH+7& 1,949
Oag otdze|iid =2 5,356
-J|1E EAM 411,900 x6E 2,472
—2Al A 411,900 +7& 2,884
O oAU =5 7,787
-J|Z& & AHB02KW) 870,500 x6& 5,223
-2 Al & AH(500kW) 366,200 *7 & 2,564
OFAL HAAS 2,400 *1,873m" 4,4%
ORLESTTME HRUY =3 123,224
Os2dD| erd2| e =2 36,740
LESHETAE 278,300 x2CH 123 6,680
—a g N2 278,300 x2CH+ 12 6,680
~HRAT A2 278,300 x2CH* 12 6,680
22N 278,300& x2CH* 12& 6,680
LET N 278,300 x 1+ 12& 3,340
- M2 278,300 x2CH 12& 6,680
OAagt otM2e|HE == 29,658
LRESET AR 411,900& * 12& 4,943
AN 411,900+ 12& 4,943
-HAT N2 411,900+ 122 4,943
=LA 411,900+ 128 4,943
LQE TN 411,900& 128 4,943
- A2 411,900+ 12& 4,943
O&FEI| et =2 31,567
QA ST A ZH(954.44N)
1,070,800& =123 12,850
—AHE & A 2H(506KW) 488,700 *12& 5,865
~& & & A 2 (450kW) 366,200& <128 4,3%
—2 & & A 2(486. 44KN) 366,200 <122 4,3%
- & & M2 (275KW) 213,700 =123 2,565
—LH 4= A2 (9BKW) 124, 700312 1,497
OFA HHAs 1,200& *21,049m’ 25,259
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C9l: HEAIRCAZO 2l2Y (crop:mel)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ORETNT PP 28 116,7%
OZ2)| HEBRIE 242 40,079
QBT M 278,300 20} * 122 6,680
~MRIE A2 278,300 x20H * 122 6.680
—ECC N 278,300 x20H* 122 6,680
=11y 278,300 * 10 * 12 3,340
2AHE M2 278,300 * [ * 12 3,340
—SAC B 278,300 * [ * 122 3,340
tRAE AT 278,3002 %30} * 122 10,019
OAgH OHEZI2|HE $42 34,601
QETHB 411,900 * 122 4,943
~ARIE M2 411,900 * 122 4,943
—ECC M2 411,9002!* 122 4,943
L= LT 411,900 * 122 4,943
2AUHEAZ 411,900 % 122 4,943
—SAC B 411,900 * 122 4,943
tRAT A 411,9002!* 122 4,943
OFD| oHEZ2IHY £42 24,849
—Q 25 & A 2H(433KN) 366,202 * 12 4,3%
— K21 & A 2 (500KW) 366, 2002 * 12 4,3%
~S G & A 2H(600KN) 488,700 * 122 5,865
~A S E A ZH250KN) 213,7002* 122 2,565
~2LH S A 2H(110. 15KW) 144, 70021122 1,737
—S AFGE A 2H(70KN) 124, 7002 * 122 1,497
~Jb2 4= & A 2H(455KW) 366,202 * 12 4,3%
OFA o AS 1,20024%14,383 17,266
02 2Z24H| 212 202 10
OAgtoM 2|83/ 55,6502+ 124 56
OFJ|tM BRI E 3| 77,9102 %2% 156
VRN oIZpt 235 1,436,574 1,488,863 52,289
201 Yt A 1,191,99 1,076,224 115,772
01 At2ZHelH| 347,140 251,632 95,508
OFQOrE BHAl ATES0 Al 29,200
orcg 28,0002 500 14,000
OABIZ(Windows Server) 440,000 x5 2,200
OABE(Linux Server) 750,000 * 142 10,500
OBt | SR E(EPP) 5,0002 x5002 2,500
OPCE AZEYN 32,600
ONSRII A 2021 490,0002 *40=2 19,600
OBHH QI A 20p08H2 280, 0002 *40= 11,200
OLEXSEIT 2021(S12H2H0| & A)
18,0002 *100= 1,800




SN CADRBASIESER AIZCAR
HE: BN 29
Eel: FFAETM2S 222 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZHOIX AYoI= 0182
5,000,000 5,000
OAHE0L0IBIAIE 2 500,000 500
O NUMATAIRE 3,000,000 3,000
OZHO0IX YE24 =013
6,000,000 6,000
OADIEEC A DATREH|
1,24021%1,0002 1,240
OADIE POCTAZ HAUS 42
570 A*400,0002 %33 6,000
OT M2 HEANHIA SE2H AA 2=
24 2 263,600
OAA" S8t 524
161, 100,000 161,100
OZMNAX SLIEE s=24
57,500,002 57,500
O=sg 2022 24 45,000,0002! 45,000
0?2 3229 844,856 824,592 20,264
O M2t2IAIAE HW,S/W X2l (415)
5,200,000 * 122 62,400
OTAZ UEKD L SotAH| SX22I(31
=) 6,800,000 * 122 81,600
ORFID AIAE! SR (14004, 145)
15,315,002 * 122 183,780
OZHO0IX KXI22l(159)
1,578,00091 122 18,936
OFESAA 2% L 2LUEH SX22l(14
) 1,700,00094+ 122 20,400
OU-ADIEFB T M2 SX22l(5M4)
4,310,00021* 122 51,720
OPC & Z2If SXIZel(150H2)
6,101,502 * 122 73,220
OZ A2 CCTVAIAE SXIZ2](13012)
3,950,000 * 122 47,400
OTMBLESAARH SR (14HA)
450,0002! * 122 5,400
OSREBAMHIA Q3 (150H2)
2,000,0002! * 122 24,000
OB L THEEMHIA HE3|M A
=5 23,000,0002 * 122 276,000
206 TH2H| 2,268 2,520 N252
01 X2l 2,268 2,520 A252
OLEEAAIL 22| XHH 2,268
Ogs 2 sl 0l
6, 0002 *400m*90% 2,160
OADIECME AEIH
6021*2, 0000H*90% 108
207 AR 6,000 0 6,000




M E

X XH -
o=

Chel: EFAYTARO B2l2Y (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MAHHZHI 6,000 0 6,000
OSHOIX SeHMAILE
6,000,000& 6,000
401 AIEHIX R0 13,500 15,000 1,500
01 A28l 13,500 15,000 21,500
OZAZ UERT X SESA
15,000,000 *90% 13,500
405 AHAHE S 222,810 395,119 A172,309
01 AL =S F=H| 215,310 387,619 A172,309
OkL= M LHH| WA 103,400
Oz =H 1,400,000 *70CH 98,000
O=ZLuIH 400,000 = 10CH 4,000
(O3] 700,000 +2CH 1,400
O&AM2t == RFIDEH| WXl 83,910
ORI D] 19,080,000 *3CH 57,240
oL AIetaILt 13,335,000 »2CH 26,670
ogzgsIl uH 20,000,000 = 1CH 20,000
©CCTV =Jt 4,500
SREEL RN \ES]
1,500,000 *3CH 4,500
OXE38T A2 2H0t013 04
1,750,000 *2CH 3,500
02 =A=EhI 7,500 7,500 0
OU-ANIEEENZ =AY
15,0002 *500& 7,500
ANEEZAZ 2 1,989,762 1,329,010 660,752
ANEZAZ H2ES 157,840 164,027 26,187
201 er23 | 72,040 69,587 2,453
01 At2teltl 72,040 69,587 2,453
odItd=E A= 16,088
o= 20,0003 * 1904+ 122 4,560
OXIgX 15,0003 100H* 123 1,800
O=2tXl 5,000 *10JH*525= 2,600
O&2HX 11,0002 *540H« 123 7,128
O=Us=lAl 22t HIoIEI0lA A2t O
g= 2,310,000 4= 7| 9,240
OXXIEH A2t 0|BE(7SH)
1,500,000& «12& 18,000
ONTEHA A2t 01B=(R=E)
4,750,000 #4271 19,000
OFXHE==(2012)
100,000& 505 5,000
Oo0ta+=H| 1,240 +3,8002 4,712
206 M=l 3,800 4,340 AB40




2A:

SAHRBMSERE AREA

il

Y 2TZCAB 2
el ANBEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 3,800 4,340 2540
O=AM d2lE83 3,800
ORFID TAG 5002 +3,8000H 1,900
Octasil S 95 50031+3,800K 1,900
405 KHaHE SH 82,000 90,100 28,100
02 =A bl 82,000 90,100 28,100
O&A 82,000
LN 15,0002 %3,400& 51,000
OXgte 2t =M 15,0002 x4002 6,000
OFSPNES EnTSe= 50,0003 *5005 25,000
ANEEZAS 2E208 29 39,980 50,160 210,180
201 2= 37,420 47,600 10,180
01 At22t2lt] 2,600 4,400 21,800
OF 429 cloldA 2
300, 0003 *2H 600
O™AIES 5,0002 *4007K 2,000
03 A= SHI 34,820 43,200 28,380
O A2 232 ) 2 30,170
O2A==g
40,0003 x2A| 2tx302 £H+82] 19,200
O=% 70,0002 * 124 840
oz e 2=
300, 0002 *35+32 *00fk 2,430
OmloIA 2218 =23
40,0003 #2A| 2+ 152 X472 4,800
Oos=8d9 2,900
-2 £X 1,500,000& 12 1,500
=9 oy 70,0002 *207K 1,400
OSMH=EA 2208 24
40,0003 *2A12++302] 2,400
O=K2lg A 2,250,000 %12 2,250
301 LEtE NS 2,560 2,560
11 dALEEIXIE S 2,560 2,560
ONSIIF NEASALA &N
20,0002 x16 2«83 2,560
NEEZAZ NSEEY 2 29,720 33,430 A3,710
201 fer= 3| 5,390 4,440 950
01 At 2|l 4,400 3,600 800
OX=TAZUHS FHIH|
100,000 +6& 600
O=A2 0|t CIEH
2,500 x400F+90% 900
OSAN=ZBE 2,000 *500F*90% 900




SN SNBHASSRR ABEHR
B ZRC NP 29
el ANBEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFSAHS HtE MUIA
5,000 %2002 1,000
OFANEBHI U= 200,000 5 1,000
02 S3=gHl 990 840 150
Ogaltl 990
Ogt=EA2 390,000& 390
OB3 A2 600,000 600
206 M=l 9,850 12,350 /2,500
01 MZH| 9,850 12,350 2,500
OAIIEB=HE 3,000 «300H 900
OXt=4 AtRlE 100,000 *10H 1,000
OEAM 222 HY 150,000& *102 1,500
ORFID B (2+8) 5002 +50004 250
OoXsUEEE)| =5 EX
3,000&+2002 600
OX2ED(HEUEE) 40,0002 *20 K 800
Ool=3AS 3,000
Ols2as 1,5002*1,2000H 1,800
OJteel= 80,0002 * 127K 960
O === B 10,0002 +24H 240
OMA=)| & wH
300,000 *x2)H*23] 1,200
O=Ad0IE 2E=2 100,000 *62 600
301 EtE N = 14,480 16,640 N2,160
11 #AIAMHIXIE S 14,480 16,640 A2,160
OXHASAHA sS4 14,480
O A2 Tt2d SAHA 254|
20,0002 6 *104& 12,480
OFFANEAZ BEENMD 4SUHIXRE =
AHRH 2 S & 20,0003 * 12 +100& 2,000
Hel=d=F ASAUSSTN 89,515 97,720 A8,205
201 er2 3| 81,075 87,700 N\6,625
01 AtR2t2|HI 900 900 0
OAEE20AM M= 3,000 *300% 900
03 &A= 80,175 86,800 26,625
OUEEAM 15,0003, 7505 56,250
OUEEAN 82 AEIA 3003 *3, 750 1,125
O ZA HAHIS 8,000,000& *12] 8,000
O81tER3 HAHIE
5,000,000& *12] 5,000
o=g=g 9,800
OUEEAM HotZd+g
700,000& x3E *22] 4,200




2A:

SHRBYSIEES ANBENB

HE: BICAY 29
oSl AlEEA2 29 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OE=3 sy
40,0002 <2A1 20703 5,600
206 THZH| 2,000 2,000
01 M2l 2,000 2,000
oZzI 29 A2E 1Y
200, 00024+ 103] 2,000
301 LBtE Nz 6,440 8,020 21,580
TENCEINEE 3,200 6,400 23,200
OB=HZT AL ZAX SAHI
8,008 5202 %103 1,600
OMA=HZT NASAR &t
20,0002/ 1024483 1,600
14 JIEr2 A2 3,240 1,620 1,620
oss2 22 90,0008 * 182 1,620
oSN 22 90,0002+ 18 1,620
EREEEREE 517,680 517,680 0
307 BI2HOI & 488,880 488,880
02 QIZHHAAIRIEE 488,880 488,880
OZRATHT 2 40,740,0002! 12 488,880
402 BIZEXHEOI N 28,800 28,800
01 SIZFAHZAFS B (RHHITH ) 28,800 28,800
OZRACTHZ N7
15,0002/ %1,920 28,800
DI 440,667 465,993 125,306
201 LErE 2,480 2,440 40
01 Al 22t 2,480 2,440 40
CISEEE] 1,24021%2,0002 2,480
307 BI2HOIH 39,828 370,000 25,828
05 QI2HolEta 39,828 370,000 25,828
OJIHo T M2 2L 395,828,000 3%,828
405 KHAHF S| 42,359 78,780 136,421
01 AL S5 =H| 12,359 48,780 136,421
ORFID SLHI OHEILE
11,000, 00024 +1CH 11,000
OHAD| 302, 0002 +2CH 604
02420 210,0002!<2CH 420
O] 335, 0002 +1CH 335
02 SARHI 30,000 30,000 0
O=AM 15,0002 %2, 0002 30,000
NEEE b, 714,360 0 714,360
201 LErE | 276,970 276,970
01 Al 22t 267,970 267,970
O=AZ 0IFH| 261,990




2A:

SAHRBMSERE AREA

il

B ZRC NP 29
el ANBEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&AM 0l1&H| 140,000,000 12| 140,000
OAlS4 08| 19,000,000& 12| 19,000
oRgs EH4 & 0™ &Xl
5,500,000& 12 5,500
OUIERAZ &4l 01&H]
56,594,000 *13] 56,594
O&LtAH Ol &H| 16,500,000& * 13l 16,500
ORFID &l ol&Hl 3,000,000& %12 3,000
Oogzgsdl o1& 3,300,000& %12 3,300
QOUuPS Ol &HI 3,300,000& *12 3,300
OCCTV & 1bI 7,756,000 12 7,756
OTLEHI(PC, ZIH )0l & ]
1,040,0002 %12 1,040
OgEEHl #14| 6,000,000& 12 6,000
OHIOIAHAHOIA 2EE AZEYN 2L 5,980
OCIXte! AZEO (Kk==)
1,690, 0002417} 1,690
OLAE BRATEYO(HRS2Y, YUE)
330,000&*13H 4,290
03 A2 I 9,000 9,000
OTIH2t A} 9,000,000& 9,000
401 Al HIZL 201 42,000 42,000
01 Al&H| 42,000 42,000
OURAIZE 22,000,000 22,000
OMNZI= &X 20,000
Ot~ =HE 8,000,000 1K 8,000
OBIoIA Al =&
6,000,000 =24 12,000
405 AHaHE = 395,390 395,390
01 TR ESF SHI 395,390 395,390
OAIR4 40,200
Outel# 22,000,000 22,000
O0IsSA NEE 200,000& * 157K 3,000
oMy 5,200
-2l iE 300,000 «2H 600
-2xMa(2en2 300,000 <2H 600
“ARIE 200,0003*20H 4,000
OS2kt 7,000
-2l XE 500,000 ~2H 1,000
—A2IE 300, 0003 *20H 6,000
OJHHIR 300,000&*10H 3,000
OS A HAEHI 130,616
Otixgzeic| 10,400, 0002 =3CH 31,200
OAPHHE D] 17,200,000 =2CH 34,400




2A:

E M

SHRBYSIEES ANBENB

ZRCHB 2
NEENZ 2

29 (S &
e
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
(OEI= ) 15,300, 0002 1CH 15,300
OSHHIZEQIAD] 500,000 *3CH 1,500
OEHSXPC(BIOIHAHOIA RNIE)
457 00021+ 134 5,941
OEIZ3PC(SA2AAS & HMD)
325,000 «8LH 2,600
Onfl=4t 240,000 *4CH 960
OLE=S 1,500,000& * 13CH 19,500
OZFH(0ISX ¥ ZAPC)
1,400, 0002 * 12CH 16,800
OF-VNsE=] 345,000 «7TH 2,415
OUIOIAHAHOIA (DY, 2R Al EH) 27,79
o742 195,000 * 1204 2,340
OJI0I=L01 Al AZTHIIX
180,000 * 124 2,160
OINIRZEE2(HEEDY)
60,0002 * 124 720
Oogd3 AIZ® 0IF 2
126,0002 * 124 1,512
Og3 AIZR UiF =<2
112,000 * 12 1,344
O22 A(ZEEIZ) 13
132,000& = 124 1,584
O=22 A(ZEEIZ) 28
132,000 * 1204 1,584
OdsZ8 22600 88,0002 * 127K 1,056
O3 66,0002 * 12 792
OdlloI M gt A 6,800,000 *1H 6,800
Oa=A I 4 460,000 *4H 1,840
O4a= JHH<L 4 ST
140,000 4 H 560
OHIOIA SZEHMZEIIA
5,500,000& 14 5,500
o0l F& HHI(X==,014) 14,900
OFFH A=)l 7,900,000 1M 7,900
Ot E 014 700,00021*10H 7,000
OdE=zY, AWEE FHl 14,664
OHS(FEZLE HOIRA)
1,030,000 * 137K 13,390
OH= AXITH 98,0002 *13H 1,274
OXtza Ji7 € &JI& 167,218
Oogas AXH(FIM) 110,000 *51H 5,610
O1AZTHAIRE) 286,000& *77H 22,022
O121 89 TH AT (25 2H])
500,000 *6 K 3,000
0421 HIOI= 2,000,000 *3H 6,000




2A:

SAHRBMSERE AREA

il

M. SSTAE 2Y
el ANBEA2 2 (e A
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Ot SAMIE AEHH(H2l4)
712,000 404 2,848
o6t SAIAIF HEH(He2lA!)
582, 000-& x4 2,328
Ot SAMIF HEH(He &)
652,000 *4H 2,608
O62lE HOIS(2HEZTHUHEY)
2,380,000 & =94 21,420
OZAIZ HIOIZ(BIOIH)
252,000 * 14 252
OZat(oloR) 265,000 14 265
OZog o H25twal)
138,000 304 4,140
OZog #a(12) (28
300, 000& *300H4 9,000
O==ZE2XHHO0IAH) 123,000 *25JH 3,075
OINMAH ety 950,000 17K 950
O=NME BXHIOIZ 370,0002 *40H 14,800
O15 ZHIBAIH105)
3,120,000 =14 3,120
Ogled A1} 260,000 =64 1,560
OMREAX 300,000 =64 1,800
O3% ZHI8AIHEE)
2,993,000 =14 2,993
o2lg All(=54) 682,000 =14 682
O0ts&8 A= 162,000 *200H4 3,240
O0lEXt g2 Xt
132,000 1464 19,272
O2ESH HIOIZ(SMAH
245,000 =34 735
OZESHHOIS (=4
184,000 *207H4 3,680
OSO0tEMEH 20t 132,000 *44 528
OR0t= HIOIZ 91,0002 *8IH 728
Oosada3H Hol=S
350,000 =44 1,400
Oosoda3lH oIkt 706,000 404 2,824
OSHEX 245,000 *54 1,225
O NZ M 214,000 =174 3,638
OZgs dHols 300,000 %574 1,500
O=28|(H) 605,000 *9H 5,445
OH28|(4) 550,000 =171 9,350
O 300,000 114 3,300
OMOtHE 66,0002 104 660
O3Z0IEERE 100,000 & *24 200
O30IEEE AHXITH 60,000 *2H 120




SN SNBHASSRR ABEHR
B ZRC NP 29
SR AEEAZ 29 (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O=7doldE HIOIS
300,000 & =34 900
HYE AU (TAALMSSES AIRSAR) 1,473,021 1,299,069 173,952
ax 46,368
T 23,184
Al 1,403,469
olE2Z| 1,237,415 1,053,729 183,686
= 46,368
& 23,184
Al 1,167,863
o124l 1,052,860 875,950 176,910
101 2124 d| 995,956 834,211 161,745
01 2= 366,444 332,565 33,879
OAIZte 2R+ 366,444
OBy 11,3103 *90H *x30A| 2H+ 12F 366,444
02 JIEHE B 134,364 136,233 ~1,869
oA RRAY 134,364
OZAE HAYS
11,3102 * 12 *30Al 2+ + 12 48,860
OAlIHEES D1l
11,3103 *18H *x30A| 2H+ 12F 73,289
oger 2AJH
11,3103 *3H*30A| 2t 123 12,215
03 BRA(RIHL) 22X 495,148 365,413 129,735
OAEEAMZ ZRE B 495,148
OPII=I=1(¥3=3 93,958
8s= 2,481,930 x2Z = 12& 59,567
-165= 2,865,802 x1Z+12& 34,391
OpIE==1(s =) 265,872
-10&= 2,461, 77029122 265,872
O¥dHA=Y 50,000 =128+ 12& 7,200
OS82 50,0003 * 128 = 12& 7,200
OFAHZ AL 140,0002 x 12+ 123 20,160
@) ==t 4,080
-kt 40,0002 +4H*12& 1,920
B PIES 20,0003 x99 =123 2,160
o2& 17,783
-U=8ss) 124,000 2+ 128 2,979
-L=(1658) 143,290 x1H 123 1,720
-2 (1088) 121, 1402 9B+ 122 13,084
OYE IOt 29,986
-L=8ss) 1,240,903 x2H +23] 4,964
-L=(1638) 1,432,940% 1 +23] 2,866




SH CARBMSSES A-T AR
M HHSHAH(CHBEMSEES A—TAR)
el QIEE2E ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-t=(1088) 1,230,830 9 x23| 22,156
Ox=2Y 25,446
-LI=2(838) 175,600 2B+ 122 4,215
-U=(1638) 200,500 x 15+ 123 2,406
-C3(1088) 174,300 +9H 122 18,825
O 4| 23,463
-LI=2(858) 99,9603 x2H «20 3,999
-U=(1658) 106,960 *1H x20 2,140
-t=2(1028) 96,2403 x99 20 17,324
4 HAZRE3S 56,904 41,739 15,165
M SRHE(RINHSL)2ZX B828€=2 S 56,904 41,739 15,165
O33R A2 s J|IARE2 56,904
o=ga3z 505,828,000& 4. 5% 22,763
OHLEE= 505,828,000 *3.545% 17,932
OMINQYEEZ 17,932,000& %12.81% 2,298
OnsE:ez 505,828,000& *1.75% 8,852
OtNEE = 505,828,000 *1.00% 5,059
ANEEA2 JH2AIZE HE 2 184,555 177,779 6,776
= 46,368
& 23,184
Al 115,003
101 2124 d| 165,891 159,909 5,982
= 46,368
= 23,184
Al 9%,339
03 SR (RIHL) 22X B 165,891 159,909 5,982
ORI HL2Z21 B+ 165,891
oJzaCa n1es)
2,501,030& x4F + 12& 120,050
) 46,368
& 23,184
Al 50,498
o285+ 125,050 4B 122 6,003
O¥dAx=Y 50,0003 x4Z 123 2,400
OS82 50,0002 x4Z = 12& 2,400
OYGE It 1,250,510& x4 H +23| 10,005
Oxz=22Y 176,800 x4H 122 8,487
OZAHZ Al 140,000 4B+ 122 6,720
OdItE 4| A, 3203 x4F 20 7,546
OJEsY 2,280
i BN 40,0003 «3E =128 1,440
-J|EFE 70,0002 x 18+ 12& 840




SN SNBHMSISER ARCHR
M HHSHAH(CHBEMSEES A—TAR)
s lIEE2ghl EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
4 HAZRE3S 18,664 17,870 74
M SRHE(PINHSL)2ZX B828€=2 S 18,664 17,870 794
O4UHEE JIARES 18,664
o=ga3 165,891,000 *4 . 5% 7,466
OHLEE= 165,891,000 *3.545% 5,881
O/INQLYEEZ 5,881,000 *12.81% 754
(@NE=3=0=: 1= 165,891,000 *1.75% 2,904
OtNEE = 165,891,000 * 1% 1,659
238l 235,606 245,340 A9, 734
Jl=2Z| 235,606 245,340 N9, 734
201 B2 AY| 191,946 193,250 1,304
01 A=R2teld| 47,760 50,360 22,600
OJl2gRMESHE|(JIEA])
450,000 x23H 10,350
O=gHI(JIE&HI)
8,000 +25H x7U «12& 16,800
OSRA(HAIZ2!) L=
90,0003 x2E*4YH 720
OFANESERA I|=H| 1,280
o=Ze=028) 240,000 »2H 480
odsts S 33 400,000 x2H 800
ORI A2
45,0003 «5CH* 123 2,700
O3JI1&8HI| X2l
43,0003 *15CH* 12 7,740
OFo1&dH| sXlzel 300,000& = 12& 3,600
oZgE EY 230,000& * 1504 3,450
O=A| &l 280,000 x4 4 1,120
02 S=29| 144,186 142,890 1,2%
oRERI 1,650
oget 4003 1,000 400
O32I 2,500 *500S 1,250
OF K= A A2l
3,700,000 *3CH 8% 888
oxdER32 A,566
oJl2ea2 8,230& *350kw 12 34,566
OMEERS 1002 50, 000kwx 122 60,000
O4 - ot+=ER23 2,790 x900m* * 12 30,132
OXN=IEE 500,000 *3CH 1,500
OXtS XAl 100,000 *3CH 300
OXteet| 14,500
OsExt 6,500,000& *2CH 13,000
O&EXHAIIRL) 1,500,000 *1CH 1,500




SN SNBHMSISER ARCHR
M HEHSHAH(CHBEMSEES ARTAR)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3AHNBRE MEEEEE(34E, AIELD)
650,000 650
202 04dl 24,960 33,600 A\8,640
01 2L AL 12,960 21,600 A8,640
O©JI=&H| 20,0002 x 182 +32 * 12 12,960
02 XN 12,000 12,000 0
OJ|=ZH4l 200,000 x5« 12& 12,000
203 ¥R=4| 18,700 18,490 210
01 J|2=2gedR=a] 6,000 6,000 0
OINEA(42) 6,000,000 6,000
02 H3AItAHH R F&| 7,240 7,180 0
OJI= 7,240
O100E K] 40,0003 %1004 4,000
0O101~400F 30,0002 »108H 3,240
M EA2HER=AH 5,460 5,340 120
OJIEA 5,460
OJ12(300lat) 400,000 12& 4,800
O=1H(3121014}) 5,000 11122 660




=H o kl
Mot B

SN CARBMSIEER QESAT AR
¥ SSTAME 2(SsL 2 /280=)
el LSS 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CA2BMUSISER QST A2 3,370,340 3,751,762 A381,422
= 115,680
== 57,840
Al 3,196,820
SN 2H(2aL2/23H0E) 1,307,918 1,928,367 A\620,449
LESFENS 2 277,797 657,512 A379,715
LESFTAS INZEE 134,792 162,501 N27,709
201 et23| 54,792 65,861 211,089
01 AtR2t2|HI 54,792 65,861 211,069
OQEBLTHB HIIZHS(M2, &X) 7
== 13,140
Oos2Xl 20,0003 1504 At= 123 3,600
OXIZ Xl 15,0002 x10JH Atx 123 1,800
OF2X 11,0003 3604 At+ 123 4,620
O=F2HX 5,000 * 1200 A+525= 3,120
ONZENZ HIIZHE(FA) A== 6,956
O&2HX 11,0002 3374 At= 123 4,3%
O=2tXl 5,0002 x 1000 Ab<62= 2,600
OFJAC M HIRIHS(HN) =& 6,956
Ot 11,0002 %330 Ab< 123 4,3%
O=F2tXl 5,000 * 100 Ab+525= 2,600
OFBT A HIIZHS () =2 4,740
O&2HX 11,0003 3004 At+ 123 3,960
O=2tl 5,000 *3H Abx52== 780
OSLENZ HIIZHE(EA) A== 7,740
O&2HX 11,0002 3504 At= 123 4,620
O==2tXl 5,0003 1200 Abx623= 3,120
OU=EA2 HIIZH2S(HX) 2SE 4,740
OZ2HX 11,0002 *307H At+ 12 3,960
=2tX 5,000 *3H Abx52== 780
OVODAIHIA AtEZ 360,000 122 4,320
O0ta =] 1,2403 5,000 6,200
206 M=l 5,000 6,040 1,040
01 M=4l 5,000 6,040 1,040
OENE2ES 5,000
ORFID TAG 5002 %5, 000K 2,500
Ot EX 2 95 5002 +5, 000K 2,500
405 AHatE = 75,000 90,600 215,600
02 =A bl 75,000 90,600 /15,600
(OEV 75,000
OgEteA 15,0002 %4,5002 67,500
OZRgetet = A 15,0002 +5002 7,500




SN CNBTYSESR QHSLT AR
M BTN 2 (L2 /25 H0=)
el LSS 2Y (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
QESHEANZ FHEIZ ) 29 66,430 84,620 A18,190
201 LB-2AH| 59,830 79,820 219,990
01 AtR2telt] 7,500 10,600 A3,100
Ox Z&ks|ol etoldlA 7Y
300,000 & =34 900
oA EE2 3,000&*1,2008 3,600
OlE=s=N 8= 20,0002 15004 3,000
03 HAL2 G| 52,330 69,220 216,890
O=ANZE= 0 13,750
OZ A=Y
40,000 *2A1 2k 1001 BH 123 9,600
OSEALS(A2SY)
500,000 *33| 1,500
O=& &J|8d 500,000 *23] 1,000
o84 70,0002 %1571 1,080
OZ2Id 2% A2
100,000& 65 600
OSMNEX Z20 3.980
OZ A= 40,0003 *2A| 2tx4 0l 893 2,880
OSgZAE(EY) 300,000 & *33] 900
OoEz2]d 23 4288
100,000& 25 200
O=NZIEHS 15,100
OXGMEESH 23 A
500,000 63 3,000
OH2oaE 500,000 63| 3,000
OX<SL&IL 2 300,000& *123] 3,600
OSBXS £S5t HXT2 )2 (12
NESY) 500,000 *73l 3,500
OEZz )y 29 AB=
200,000& 103 2,000
O=AMs0tel 54 1,200
O=UE ZAt=Y
40,0002 #2 A 2tx153] 1,200
O =AM 6,000
OZ A== 40,000 #2A| 2H%253] 2,000
OSgZAE(S5R) 500,000 43| 2,000
OZ2 I 2% A2
500,000 *43| 2,000
OO0{2lo] &2l Zats2t T2 5,400
OZ A== 220,000& 103 2,200
OEz2]d 23 4288
400,000 +83| 3,200
O M2t==2F AL 1,000,000 *12| 1,000
O=MNaY AL 900,000&*13] 900




SN CARBMSIEER QESAT AR
¥ SSTAME 2(SsL 2 /280=)
el LSS 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLIZSF0 21 500,000& 62 3,000
O=at U= 500,000 42| 2,000
203 =2l 1,800 2,000 A200
03 A=A PR FZ| 1,800 2,000 A200
O N2 R 2,000,000 *90% 1,800
301 2= 1,300 2,800 21,500
11 dALEEIXIE S 1,300 2,800 21,500
On=2 e NESAHA sS4
8,000& x5& 102 400
ONSIIT NASAA S 2|
20,0002 x5 & *92| 900
405 AtaHE = 3,500 3,500
01 TR ESFISHI 3,500 3,500
OHILILEZHEH 3,500,000 *1CH 3,500
LESTTAS NZEHA 2L 20,042 32,247 A12,206
201 Ler23 | 7,432 10,372 A2,940
01 At2t2ltl 2,360 5,650 A3,290
O = A2 It
100,000 x 10 *13] 1,000
Oz 2|22 A
100,000 *1&x22| 200
O=AM2 OISt 2=
2,500 x200 500
oZgH &EH 230,000& *2H 460
ORQI= M= AOIE etolala 2
200,000& %12 200
02 S3=gHl 5,072 4,722 350
Os+aat=0[El VROM AlAE RXI22(H
600,000 42 2,400
Og2s|RY= 2,672
Ot=2= M2 (22) 390,000 x20H -2+ 780
O8t== A2 (32) 123,000 x4 01 2t 492
O33=A(BS3) 400,000+ 10K 2 400
OZ23&=M2(CE=) 200,000 *54 -2+ 1,000
206 MH=HI 7,250 13,555 26,305
01 MHZH| 7,250 13,555 26,306
OolE22S 2,250
OUsE3te 1,500 *700H 1,050
O2tEel= 80,0003 * 107K 800
Or==EE 10,0002 *40H 400
OXz4d ARlE 100,000 «8H 800
Oz +4a=0lH \RIM 2S=3
100,000 *8H 800
(RN =< 10,0002 20 H 200




SN CNBTYSESR QHSLT AR
¥ SSTAME 2(SsL 2 /280=)
el LSS 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZNZ4+E HIOIZ 150, 00024 x4 600
ONSUSHLI| Y45 X
3,000& *2502 750
OAItE SHE 3,000 *100H 300
OUXEza 2SS 650
Onofl=4t 35,0002 *10H 350
OJIEE 15,0002 % 10H 150
olteA 15,0002 % 10H 150
=AY HAE A
150,000 *22] 300
OAl=g JletA 20,0002 % 10H 200
Oz 28| 40,0002 * 107K 400
301 LEetE2 N = 5,360 8,320 2,960
11 #AIAHIXIE S 5,360 8,320 A2,960
OXHESALAL 2sS4|
20,0002 x4 »67 5,360
LESFTAZ NESFA2E 20,533 160,944 A140,411
201 el 20,533 28,213 27,680
01 At2teltl 20,233 27,913 A7,680
ORQUBHIAIAE AIER
285,000+ 122 3,420
od=zd=)| Sxz
38,0002 +8LH* 12 3,648
O3JIEEI| Xz
30,0002 x130H~ 12 4,680
OMA=)| ABF 300,000 +3CH*13] 900
O3&d & FAES 4,800,000& 4,800
oOd23=)| 3FZ 16,5002 * 102 A 165
oFAAIBE(EES 2)
50,000& 205 1,000
(O S gnkss 1,620
OZ3712 gat2elt n=H|
240,000 64 1,440
Osdl| etE2e| it W=
30,0002 64 180
02 S5=24g4l 300 300 0
OAgotM 2| X &2/l
50,0003 64 300
BFSAUA 11,000 187,200 /176,200
201 eer23| 8,000 182,400 A174,400
03 A= SHI 8,000 179,900 A171,900
02025 FF=AUH 8,000
OZHOIX H# & 82Xz M
8,000,000 8,000
301 EtE NS 3,000 4,800 21,800




SN CARBMSIEER QESAT AR
U TR 2(2LHB/2H0E)
Gl QESLTAHZ 2% (12l M2
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
14Dt 2 a3 3,000 2,000 1,000
OAE B2 &= 300,000& *10H 3,000
IIE=AN2 25,000 30,000 25,000
201 L= 25,000 30,000 /5,000
03 A2 I 25,000 30,000 A5,000
OHZE HIOH = 12,000,000 12,000
ot(H)=M2S3l 13,000,000 13,000
AEEM2 2 197,430 252,135 A4, 705
HEEAZ NS 78,850 86,514 AT,664
201 L2 10,850 11,314 AN4B4A
01 AtR2telbl 10,850 11,314 A4BA
oIt =E =2 5,580
OsA 20,0002 1201122 2,880
OXI&X 15,0003 1504+ 123 2,700
Ooita =l 1,2403 4,250 5,270
206 M=4l 4,250 4,700 A450
01 M=4l 4,250 4,700 A4S0
(CEVNESE = 4,250
ORFID TAG 5002 4, 25004 2,125
OHeEEX 2 95 5002 *4, 250K 2,125
405 KHAH SH 63,750 70,500 AB6,750
02 =AMl 63,750 70,500 AB,750
O M= &H] 63,750
OLEtEN 15,0003 +3,8252 57,375
OXgtetetM = A 15,0003 #4253 6,375
dHEEAS 2E2Y 29 24,635 34,915 210,280
201 2= 23,99 33,315 9,320
01 AFS2t2ltl 5,000 3,708 1,292
oK EE2= 3,000&+1,0005 3,000
O=SHL=AM 222 20,0002 +1000H 2,000
03 A2 I 18,995 29,607 210,612
O=AN2tZ2 I 12,850
OZAte=& 40,0003 #2A1 2H+1301% 103 10,400
Ozx=% &JIs¢ 450,000 *42] 1,800
Og=% 70,000 *50H 350
OZz20d 29 A2
100,000& 35 300
O=AN=X 2 2,080
OZA=E 40,0002 x2A1 2Hx4 I *43] 1,280
Oxz8 28 423
100,000&+85 800
O=ANS0tel |4 800




SA: CABPMSSER QRSLTHB
M ZICH2 2F (222 /230 =)
&Rl AEEA2 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSHE 2A=E
40,0003 #2A12++102] 800
OF A 2t=2F A 765,000& 12 765
OSAMoE A 1,000,0002 %12 1,000
OLI2EF0 T2 500,000 32 1,500
301 EtE NS 640 1,600 A960
11 dALEEIXIZE S 640 1,600 2960
OZ2I# XZAK 24|
8,0002+x8&x103] 640
SEDAS H22Y 29 10,870 22,180 A11,310
201 ger= 3| 660 2,245 1,585
01 AtR2te|H] 660 2,245 A1,585
oxZgH &4 230,000 x2H 460
OSF =M AOIE ctoldlA Fe
200,000& %12 200
206 MH=HI 5,010 8,215 A3,205
01 MZH| 5,010 8,215 A3,205
(Ol E<rokats 1,650
OUsE3te 1,500 +700H 1,050
Odt=el=z 80,0002 *5H 400
O == =B 10,0002 +20H 200
OXt=4 ARlE 100,000 *5H 500
otz NM=Z 10,0002 *20H 200
O=AME+E HIOIZ 150,0002x22 300
OXsUEeI 9+ EX
3,000 +80= 240
OAIIE SHE 3,000 »100H 300
OUINEAzd 2SI 520
Odll=At 35,0002 +8H 280
O2IEE 15,0002 +8H 120
OoiteA 15,0002 +8H 120
OTAIE HAIU 80,0002 *5H 400
OSsHd0IE HAE A5
100,000 %32 300
OArSg It 20,0002 104 200
oxze| 40,0002 = 107K 400
301 EtE N = 5,200 8,320 A3,120
11 #AIMHIXIE S 5,200 8,320 A3,120
OXESALAL Es4a|
20,0002 x4 »65 5,200
SEEME AIdESRA2e 83,075 108,526 N25,451
101 ©1AH| 70,012 87,903 A17,891
M IRMZZREE 70,012 87,903 A17,891




SH CHRBMESER QRSAC A
T ZBTANE 2Y (2L 2HZ ol=)
Eel: g2 29 (ol ® )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFAL 22|17 B4(2Y 63,464
(OpIE== 2,121, 110228+ 12& 50,907
OZAHZ A 140,000 2F 122 3,360
O&eise 50,0003 x2F 123 1,200
O M 50,000& x2Z+12& 1,200
OYE St 636, 330& x2H *23 2,546
OS2 4| 77,6803 x2% « 152 2,331
O=XIE2E 80,0003 x2ZF 123 1,920
O4UEEZ JIARY2 6,548
o=naz 58,184,000 *4.5% 2,619
OHLEE= 58, 184,000 +3.545% 2,063
OIIRAEE = 2,063,000& *12.81% 265
(@ME=1)=: K= 58,184,000&*1.75% 1,019
OMHEEZ 58,184,000 * 1% 582
201 LB-2AY| 13,063 19,743 6,680
01 AtR2telt] 12,349 19,029 6,680
ORCIZHIAAE AIBZ
220,000& =123 2,640
o423 itz
34,0003 #4CH* 123 1,632
O3JI18&I| Xtz
43,0003 *7CH* 123 3,612
O3t&a & HAES 3,800,000& 3,800
odzdEs)| &4 16,5002 x 102+ A 165
OFAM2LIZS (8
50,0003 *10& 500
02 2324l 714 714 0
OdSIx HA 14,0002 x51& 714
HATNZ 2Z 201,719 276,100 AT4,381
HASAHZ NZE=E 78,130 4,320 216,190
201 L2 AY| 10,130 11,120 A990
01 AR2teld| 10,130 11,120 2990
O IItdE A== 4,860
Os<Xl 20,0003 * 129 Ab=12& 2,880
OXIZX] 15,0003 *11OH Ab+ 123 1,980
O0ta7=| 1,240%1 4,250 5,270
206 =8l 4,250 5,200 A950
01 =l 4,250 5,200 A950
OENMECES 4,250
ORFID TAG 5002 x4, 25004 2,125
Octe =Xl 2 93 5002 %4, 25004 2,125
405 KHHFSH| 63,750 78,000 A14,250
02 A7 63,750 78,000 A14,250




SN CARBMSIEER QESAT AR
¥ SSTAME 2(Ss 2 /280=)
ool FEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLEtEN 15,0002 +3,825& 57,375
OXgter2t = A 15,0002 »4252 6,375
A2 EE20Y 2F 25,890 37,730 211,840
201 fer= 3| 25,250 36,130 10,880
01 At 2t 5,300 5,500 A200
oA E2= 3,000&+1, 1002 3,300
OxSlHL=A EE2= 20,000 * 100K 2,000
03 Ar=EHI 19,950 30,630 10,680
OSMEstZ=2 08" 15,490
OZAt==g
40,0002 <2A[ 2% 1201 B+ 132] 12,480
O=% &JIs¢ 450,000 <22 900
Osl+=9 70,000 % 13K 910
Oonzd 2% a2F
300,000 45 1,200
OSAMS0tel 54 960
OSHE 2AE
40,0003 *2A12+x122] 960
O A 2t=2+ A} 1,000,000& %12 1,000
OSAelE A 1,000,000& %12 1,000
OQIEEN B2 500,000 *32 1,500
301 EtE NS 640 1,600 A960
11 AALAHIXIES 640 1,600 A960
OZ=2d XHESAHA sS4
8,000& x4 »20 640
FECAS 28 2H 11,210 32,710 221,500
201 er23| 660 4,275 23,615
01 At2teltl 660 4,275 A3,615
oZgH &4 230,000 *2H 460
ORCISHEAOIE ctoldATY
200,000& %12 200
206 M=l 4,570 7,700 A3,130
01 MHZHI 4,570 7,700 23,130
Ool=3AS 1,650
Oousste 1,500 *700H 1,050
OJteel= 80,000 *5H 400
Osl==elH 10,0002 +20H 200
OXZ4a AtelE 100,000 *5H 500
Otl2H=E 10,0002 +20H 200
O=AME+E HIOIZ 150,000 +32 450
OXsSUEEYI 5 EX
3,000& 1002 300
ONIIE SHE 3,000 *100H 300




SN CARBMSIEER QESAT AR
¥ SSTAME 2(Ss 2 /280=)
ool HEAZ 2d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUXEX=4 2 520
Opfl=4t 35,0002 ~8H 280
o312 15,0002 +8H 120
OofteA 15,0002 +8H 120
O=Fd0lE HAIS A5
150,000& *32 450
OA=g JIetA 20,0002 *10H 200
301 LEetE2 N = 5,280 7,200 21,920
11 #AIAHIXIE S 5,280 7,200 1,920
OXHESALAL 2s4|
20,0002 x33 88! 5,280
405 AHAHE S 700 13,535 12,835
01 AL =S F=H 700 13,535 12,835
OSEH(4¥) 350,000 x4 700
A2 AMEESFA2L 86,489 111,340 A24,851
101 @124H| 70,012 87,903 A17,891
MU IIRINZZE2NSES 70,012 87,903 A17,891
oZAx =EA 2(29) 63,464
OoJlzs 2,121,110 «2F 128 50,907
Od A ZAH| 140,000& x2&* 123 3,360
Odel=g 50,0003 x2& » 122 1,200
OS+=A2=g 50,0008 x2& * 12 1,200
Og &=yl 636,330 x2H*23] 2,546
OYItE &I 77,6803 28 15 2,331
OSsXEE 80,000 x2&* 122 1,920
OISR JI2RY= 6,548
O=ugsEER 58,184,000& 4. 5% 2,619
(OFafe gt 1= 58, 184,000 +3.545% 2,063
OIWIRLESE 2,063,0002*12.81% 265
OnEeez 58,184,000 *1.75% 1,019
OttiEg= 58,184,000 * 1% 582
201 er23| 16,477 22,557 26,080
01 AtR2t2|HI 15,637 21,717 26,080
ORIFHIAAE MEE
250,000 * 128 3,000
odzd=sIll iz
34,0002 ~4LH =122 1,632
O3J1838J| Sxt=z
45,0002 «11CH* 123 5,940
OMASI| ABF 300,000 *2CH*13] 600
o3Ed % HAES 3,800,000& 3,800
odzd+I| SFH 16,5002+ 102F A 165
OFA22IBE(EES 2
50,0008 %102 500




SN CARBMSIEER QESAT AR
M I3cM2 2E(SH2/280=)
ool FEA2 2 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 S22l 840 840 0
(OFSke] ENgP=EN 14,0002 *60E 840
LEZMS 2 170,804 209,365 38,561
SLEEME NSEHS 52,459 54,143 A1,684
201 L= 7,115 7,103 12
01 AF22t2ltl 7,115 7,103 12
oI =E A== 3,600
(@FES=N 20,0002« AF+ 122 2,160
OXIgX 15,0003 *8IH Ab+ 123 1,440
O0ta=H| 1,2402+2,8342 3,515
206 M=4| 2,84 2,940 A106
01 =4l 2,834 2,940 A106
O=AMEeIES 2,834
ORFID TAG 5003 %2, 83404 1,417
Octe =Xl 2 93 500& %2, 8344 1,417
405 KHAHF SH 42,510 44,100 A1,500
02 =Xl 42,510 44,100 A1,590
O&A 42,510
OgBEAN 15,0003 %2,5%6& 38,940
OXMGBEHEAN 15,0003 2382 3,570
QB2 232N 2 25,200 31,115 A5,915
201 Zet2& ] 24,800 30,715 A5,915
01 AtR2telbl 4,250 3,565 685
oMt EE= 3,000& *750% 2,250
O=SHY=AN EE22 20,000 100K 2,000
03 A2 I 20,550 27,150 26,600
O=AM2stZZ2 I 12,150
OZ A=
40,0003 x2A1 2t 100 B+ 133 10,400
Ozx=d &#JI&8d¢ 500,000& 22l 1,000
O 70,000& *50H 350
OoZzY 298 423
200,000& *22 400
O M2t==2F AL 1,000,000& %12 1,000
OSAolE A 1,000,000& %12l 1,000
OLIZSF0 28 500,000& *12] 500
oddge A2 3,400
OBt E20E 200,000 *12=] 2,400
OZ2d 2I42E
100,000 * 102 1,000
Obsddsd Z2XE 2,500
O=&38L 2,000,000& %12 2,000
OsEMEZ=2d 250,000& *22 500




SN CARBMSIEER QESAT AR
¥ SSTAMZ 2(SsL 2 /280=)
el QM2 =Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 400 400
11 dALEEIXIZE S 400 400
0TI A=A S|
8,0002+x5&x103] 400
LENE NH2EHY 2E 11,000 18,041 AT,041
201 ger=3| 660 2,245 1,585
01 AtR2te|H] 660 2,245 1,585
oZgH &4 230,000 x2H 460
OSR2l2 M= AOIE etoldlA e
200,000& *12] 200
206 M=l 4,470 5,460 A990
01 MZH| 4,470 5,460 2990
(Ol E<rokats 1,750
OUsE3te 1,500 *500H 750
O2tEel= 80,000& * 10K 800
O == =B 10,0002 +20H 200
OXt=H ARlIE 100,000 *5H 500
OXEN=E 10,0002 *20H 200
O=AME+E HIOIZ 150,0002x22 300
OXsUEe)l 9+ EX
3,000 *1002 300
OMIIE S 3,000 *100H 300
OUXEXN=A 2SI 520
Odll=At 35,0002 +8H 280
O2IEE 15,0002 +8H 120
OobteA 15,0002 +8H 120
OA=E JIetA 20,0002 *10H 200
oxze| 40,0002 10 400
301 LEtE NS 5,100 6,240 1,140
11 AALAHIXIES 5,100 6,240 AT1,140
ONAZAN EEaH|
20,0003 3 »85& 5,100
405 AHaHE = 770 4,0% A3,326
01 It =S F=H 770 4,09% A\3,326
OosguA3a oo 770,000 1K 770
LN AIEEFAI2L 82,145 106,066 A23,921
101 @12A4H| 70,012 87,903 A17,891
04 JIZtN22 XS 2+ 70,012 87,903 A17,891
OHA B Ha(29) 63,464
OoJlzs 2,121,110 «2E 128 50,907
Od A ZAH| 140,000 x2S * 122 3,360
Odcl=g 50,0008 x2& * 12 1,200
Ofd=g 50,0002 x2& =122 1,200




SH CHRBMESER QRSAC A
M I3cM2 2H(Es 2 ol=)
o QECME 2E CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE &=l 636, 3303 x2 & *22] 2,546
OS2 4] 77,6803 x2& x 152 2,331
OSXZEE 80,0008 x2& x 12 1,920
OCAUESE JIARE= 6,548
O=ld= 58,184,000 4. 5% 2,619
(OFaksi--t=y=3 58, 184,000& *3.545% 2,063
OFIIRYEE= 2,063,0002%12.81% 265
ons=sEg= 58,184,000 *1.75% 1,019
OttEe= 58,184,000 * 1% 582
201 er23| 12,133 17,283 25,150
01 At2teltl 12,133 17,283 A5,180
ORQUBHIAIAY AIER
237,500 x 122 2,850
odzd=I| YxE
23,7503 x40+ 122 1,140
O3J18&8J| Sxt=z
42,7503 +60H* 123 3,078
OMA=)| ABF 300,000 +3CH+*13] 900
O=tda & HLES 3,500,000& 3,500
od=d+)| 54 16,5002 * 108+ A 165
oZAACIBE(EES 2)
50,000 %105 500
SN2 2 289,189 345,468 A56,279
SEDA HSES 95,920 112,589 16,669
201 er2 3| 15,920 15,949 A9
01 At2teltl 15,920 15,949 AZ9
oxJItd= As8 5,400
(OFESN 20,0002 x 1504 Ab< 123 3,600
ORI 15,0003 x10JH At= 123 1,800
OVODAIHIA AtEZ 360,000& 122 4,320
O0ta+=H| 1,2403 5,000 6,200
206 MH=H| 5,000 6,040 1,040
01 M=4l 5,000 6,040 1,040
O=AMEeIES 5,000
ORFID TAG 50021 %5, 000K 2,500
Octa Xl 2 95 500 *5,000H 2,500
405 AHatE = 75,000 90,600 A15,600
02 =A bl 75,000 90,600 /15,600
O=A 75,000
OgEteA 15,0002 %4,5002 67,500
OZgEtet = A 15,0002 500 7,500
SEHEAS S22 29 32,742 37,120 N4,378
201 Ler23 | 32,070 36,920 23,850




SH CHRBMESER QRSAC A
M I3cM2 2H(Es 2 ol=)
H?el: SHEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 6,600 4,500 2,100
oM B2 3,000&#1,200% 3,600
FOLHE =N E22 20,0002 *150H 3,000
03 SHAI2 | 25,470 31,420 A5,950
SN2EHTR I 16,250
OBASE
40,000 x2A1 2Hx150 EH+ 102 12,000
Ol =9 70,0002 * 157K 1,050
oz d 28 47
300,000 43 1,200
O=& FJI18¢ 1,000,0002 *22] 2,000
OSAM=A 220 1,600
OZA==g 40,0003 =2A| 2H+5JH BH+43] 1,600
OSAMS0tel 54 2,820
OSHE 2A=E
40,0002 x2A| 2-x20H B+ 122 1,920
OEEE A 7
15,0003 102 +65 900
OROIHE =AM 2,000
OZ A& 40,0002 x2A| 2% 153] 1,200
OoZzd 23 AR
100,000 x85 800
O A 2t=2+ A} 1,000,000& %12 1,000
OSsAog A 1,000,000 12 1,000
OQEEN 2™ 400,000 22 800
301 EtE NS 672 1,200 N528
11 AALRHIXIR S 672 1,200 528
OmZzd HESAK
8,0002 68 * 143 672
SETAZ UGS EHY 2H 30,368 44,430 A14,062
201 Ler23| 1,160 3,005 A1,845
01 At2teltl 1,160 3,005 A1,845
oZegH &U 230,000 *2H 460
O=2lE MZE AOIE ctoldlA g
200,000& %12 200
OAJt Ol &XI & 500
O=H83&4 At | 9
500,000& 12 500
206 M=l 6,150 10,425 N4,275
01 M=4l 6,150 10,425 N4,275
OU=3ES 2,250
OUsEst= 1,500 +700H 1,050
OJteel= 80,000& * 107K 800
O == =5 10,0002 *40H 400




SN CARBMSIEER QESAT AR
¥ SSTAME 2(Ss 2 /280=)
H?el: SHEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OX= & AtRlES 100,000 «8H 800
oMSH=E 10,0002%200} 200
OTHB4E HOIZ 150,00024+3% 450
ONSUELI| 4= B
3,000 *3002 900
OAIIE SAHE 3,000 *100H 300
OUXETza M 650
Odll=At 35,0002 *10H 350
O2IEE 15,0002 104 150
OontRA 15,0002 10H 150
OA=g JIetA 20,0002 = 10H 200
oxze| 40,0002 10 400
301 Eet2 NS 13,600 28,000 14,400
11 #AIAHIXIE S 13,600 28,000 14,400
ONAZAN EEAH|
20,0002 x83 85 13,600
405 AHaHE = 9,458 3,000 6,458
01 AL =S F=HI 9,458 3,000 6,458
OBMBAL =4 9.458
Oo0lIEXtE Hiol= (42
925,000 *4H 3,700
O0IEX+3 HIol=(2¢2!
214,000 =2 428
oolEX+E 2Kt 286,000 * 1574 4,290
OIUE=IN=REIPNIEIELY 260,000 *4H 1,040
SETAE AIEEFA2L 130,159 161,329 A21,170
101 21A4H| 114,014 129,101 15,087
04 JIZtN2Z2 XS+ 114,014 129,101 15,087
OFA JI2tM 2=(3%) 104,194
OJles 2,121,110 +38 128 76,360
OdHZAH| 140,000 x38 * 122 5,040
Odcl=g 50,0002 +x3&* 12 1,800
Ofd=g 50,0002 x3& =122 1,800
Og&E=Itdl 636,330 x3 *23] 3,818
OS2 4| 77,680 x3& 152 3.4%
OSX=EIE 80,0002 3 » 12 2,880
O&lX= 3,000,000 *3% 9,000
Oz JI2RY= 9,820
Oo=gig=z 87,274,000 *4. 5% 3,928
(@Faksi--t= =3 87,274,000 +3.545% 3,094
OFINYEE=R 3,094,0002%12.81% 397
(@ME=Lh=1= 87,274,0002 *1.75% 1,528
OttHEg = 87,274,000 *1.00% 873




SN CARBMSIEER QESAT AR
¥ SSTAME 2(Ss 2 /280=)
o SRHEMZ 28 CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 16,145 22,228 26,083
01 At2teltl 16,145 22,228 26,083
ORQUBHIAIAYE AIER
330,000 x 12 3,960
odzd=I| YXE
39,000 +50H+ 122 2,340
O3JI¥EI| Xtz
45,0003 +7CH= 123 3,780
OMA=)| ABF 300,000 *2CH*13] 600
O=tda & HLES 4,800,000 4,800
od=d+)| 54 16,5002 * 108+ A 165
oZAACIBE(EES 2)
50,000 %105 500
i==h2t 2 170,979 187,787 16,808
U=EA2 TSES 52,652 59,309 26,657
201 Ler=23| 7,852 7,469 383
01 At2teltl 7,852 7,469 383
oxJItd= s8 4,380
(OESSIN 20,0003 *x10JH At= 123 2,400
ORI 15,0003 * 114 Ak 123 1,980
O0t3a+=H| 1,240 +2,8002 3,472
206 MH=Hl 2,800 3,240 A4
01 MZH| 2,800 3,240 AN440
OENE2ES 2,800
ORFID TAG 5003 +2,800K 1,400
OHHEEX 2 98 50031 *2,8004 1,400
405 AHAHE S 42,000 48,600 26,600
02 A bl 42,000 48,600 26,600
O&A 42,000
ot A 15,0002 *2,6002 39,000
OZgretatml 15,0002 200 3,000
WA 232208 2 22,400 22,920 A520
201 et 3| 21,760 22,120 A360
01 At22t2l] 3,500 3,500 0
o=N2 EEE 3,000 *700= 2,100
OFOINL=HA EE2= 20,0002 *70H 1,400
03 A= SHI 18,260 18,620 A360
O=ANZZZ2 I 10,260
OZA=E
40,0002 x2A| 2-+6IH B+ 172 8,160
O=& I8¢ 500,000 <22 1,000
Ol =9 70,0002 = 109K 700




2A:
X XH -
o e

=aak

SHRBMSIERE QBT AR
TRCHB 2 (2URT/25H012)

(=}
L4Eh2 2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oy 2% A2E
200,000 *23] 400
O=OIHE =AM 1,200
OZ A=< 40,0003 *2A12+%102] 800
OZ2IY 2% ARE
100,000& x45 400
oddg=s =AM 1,800
Olzst 223 500,000& *12] 500
Ot 2203 500,000 22 1,000
Onzd 28 423
100,000& %32 300
OrFsddsd I2HME 2,500
OS&E8e 2,000,000& %12 2,000
Osgdg £ 250,000 23] 500
OSAM2tZ=2t AL 1,000,000& *12] 1,000
O=Kog A 1,000,000 *12] 1,000
OLIESF0 221 500,000 12 500
301 eEetE2 N = 640 800 A160
11 #AIAHIXIE S 640 800 A160
Oz XHESAHL S4H|
8,0002 88 x102] 640
WAt egea 2 9,630 16,750 AT,120
201 el 660 2,760 22,100
01 At2teltl 660 2,760 2,100
oZgH &4 230,000& *2H 460
ORQS MZE AOIE 2toldlA 2¢
200,000 *1H 200
206 M=H| 4,470 7,750 23,280
01 M=8l 4,470 7,750 23,280
olz3as 1,750
Oolsste 1,500 «500H 750
Odteel= 80,0002 * 107K 800
O I=5==E| 10,0002 *20H 200
O=ME+E HIOIZ 150,0002x22 300
OXsUEe)l =5 EX
3,000 *1002 300
OMIIE S 3,000 *100H 300
OUXEXN=A 2SI 520
Odll=At 35,0002 8 H 280
O2IEE 15,0002 +8H 120
OobteA 15,0002 +8H 120
OSH0IE HAIS A3
100,000 43 400
O 2ED| 40,0003 = 107K 400




SN CARBMSIEER QESAT AR
M ZZTHE 2 (232 /23H0=)
=Rl LA 2 ESR=ED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
O&EIIHESE AL 1,000 5004 500
301 LetEEZ 4,500 6,240 21,740
11 HARHIRIE S 4,500 6,240 A1,740
OXIAS AR 2SS4l
20,0003 75 4,500
=S M2 Al 2SR K2 86,297 88,808 A2,511
101 @124l 76,012 73,903 2,109
M IIZtHZ22HSE 76,012 73,903 2,109
O&FA JIZ2HH E(29) 69,464
Oel| 2,121, 11022+ 122 50,907
OFAHZ Al 140,000 x2ZH 12 3,360
(OFSe-Eat= 50,0003 =2« 12& 1,200
Ol 50,0003 =2« 12& 1,200
OFEFOHI 636,330 *2H +23] 2,546
OHIHE &M 77,6803 x2H 152 2,331
O=XEQIE 80,000 =2« 12& 1,920
(@S ESF=, 3,000,000& *2H 6,000
O4UEE =z J|122Y3 6,548
o383 58,184,000 *4. 5% 2,619
(OFar k= 1= 58, 184,000 *3.545% 2,063
ORINQABEZ 2,063,0002*12.81% 265
(@NE=3k=: = 58,184,000& *1.75% 1,019
OMHEEZ 58,184,000 * 1% 582
201 Let2| 10,285 14,905 24,620
01 Al2 2218 10,285 14,906 4,620
OSOIHHIAIAE BA22E
200,000 123 2,400
o228 Xtz
23,0003 ~4CH+12& 1,104
O3J1¥EI| Xtz
42,0003 ~4CH* 123 2,016
OMA=)| AR 300,000 x2CH*13] 600
Ozt & HEAES 3,500,000& 3,500
od=2d=s) =54 16,5002 x 102+ A 165
OHAZ2IEZ (S 2)
50,0003 *10& 500
HYP2HIEH(CHN2HMSISEE QESHEAMR) 2,002,422 1,823,3% 239,027
s 115,680
& 57,840
Al 1,888,902
elA2A| 1,489,138 1,309,092 180,046
s 115,680
& 57,840
Al 1,315,618
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SN CARBMSIEER QESAT AR
I BHSAAY|(CABEYSSED QHSLTHD)
SC R IEE CERE)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
O&d+g 50,0002 +3& ~ 122 1,800
OSaxg4d 50,0002 %324 122 1,800
OEse 1,680
BN} 40,0002 x3&* 122 1,440
-JIEE 20,000 18122 240
O=u2RE 179,400 x32* 12 6,459
Og&E=Itd| 1,269,870& x3E 22 7,620
Ogt=2 4| 95,6803 »3& x202 5,741
WM HsEE=S 13,548 14,934 1,386
04 SRE(RIAHA) 22X BEEERE2 S 13,548 14,934 A1,386
O4UEE J|I2RE= 13,548
Oo=gg=s 120,402,000 4. 5% 5,419
OdY e 4,816
-HYLEES 120,402,000 *3.545% 4,269
-HIIRAEEE 4,269,000 *12.81% 547
ONESMHES 3,313
-UESES 120,402,000 *1.75% 2,108
~MHEE= 120,402,000 * 1% 1,205
Q14| 1,028,672 846,126 182,546
101 e124d| 933,909 759,363 174,546
03 SRA(RIH) 22X+ 933,909 759,363 174,546
OAMZRE (L= 2188) 51,339
oJlzs 3,106,010« 1&~12& 37,273
O2s+g 185,300« 1~ 12& 1,864
OZN=4HI 140,000 x1&* 122 1,680
O¥el=g 50,0002 x1& x 122 600
OS=AM2=g 50,000 x1&* 122 600
OJE=g 1,320
BN} 40,0002 x1&* 122 480
-JIEH = 70,0003 18 x 128 840
o=zl 216,000~ 1H« 122 2,592
OE &=l 1,553,000& x1& 23] 3,106
OgIt2 4| 115,2002 x 12 »20 2,304
ogeEea B4(t= 958) 882,570
oJl2= 2,422,920 x228 « 128 639,651
O2s+g 121, 140222+ 122 31,981
OFHZAH| 140,000& x22E « 12 36,960
O&d+< 50,0003 x22H *12& 13,200
OS=22=¢ 50,0002 x22H 122 13,200
OIE+g 8,640
BN} 40,0002 x8E~ 123 3,840
-JIERHE 80,0002 x5& * 12 4,800




SN CARBMSIEER QESAT AR
Hu: SN (CAHRBYSSZE QHSLTA)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxz=22=¢ 171, 7003 x22E « 12 45,329
OE &=l 1,211,460 2 x22F 23| 53,306
OYItE 4| 91,6002 x22H x202 40,304
WM HsFEE=S 94,763 86,763 8,000
M BRA(RIHY) 22N EE2REs S 94,763 86,763 8,000
OCAUES JI2RE=2 94,763
Oo=gg=s 842,386,000 *4. 5% 37,908
oY e 33,689
-2ZEE= 842,386,000 *3.545% 29,863
-HIIQYEEE 29,863,000 *12.81% 3,826
OnEMHES 23,166
-UESES 842,386,000& *1.75% 14,742
“MHEE = 842,386,000 * 1% 8,424
=238l 573,284 514,303 58,981
JI23Hl 573,284 514,303 58,981
201 et 3| 541,064 466,363 74,701
01 At22t2l] 52,186 60,587 28,401
CpCEERS TEE=E ]
450, 0002453524 15,750
O3HI(0IEZ)
8,0003 x432+7Lx 12 28,896
OFAHZZ LI=HI 3,680
Oo=2:2= 120,000 8 »23] 1,920
Ogsts S 38 220,000 8 =12 1,760
O3 (FAt=el) ml=sd 900
oXgs 90,0003 x5 *23] 900
O=AII &Y 280,000 x2H 560
OSAPI SX= 200,000 * 122 2,400
02 S5=24g4l 488,878 405,776 83,102
OZAIIARF 3,500,000 «3 A+ 12 126,000
oR#ERs 3,070
ogegt 40023 <800S 320
=P 2,500 *300= 750
OAx 5,000 200K 1,000
OB MBI A E4BHHI
5,00024 2004 1,000
oNIIR3 4,500,000& 6 2x* 122 324,000
Oyolr=ER= 450,000 6 A+ 123 32,400
oRugss 14,0002 x6IH A% 12 1,008
ONsSiEE= 800,000 *1CH 800
OXSIHA| 100,000 1CH 100
OXtgs 8] 1,500
O&EIIXt 1,500,000 1CH 1,500




SN CARBMSIEER QESAT AR
Tu: BHSAAL|(SABBUSSER QHSIND)
Chel: J1=2 &l EEED
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
202 04| 25,200 40,800 /15,600
01 =LHAHI 25,200 40,800 /15,600
OJ|1=&H| 20,0003 %3632« 122 25,200
203 gR=8| 7,020 7,140 A120
04 FEXA2EYERFAH 7,020 7,140 A120
oJIE 7,020
OJ12(30Z 0lat) 400,000& + 122 4,800
O=1H(3121 014}) 5,000 +37&~12& 2,220




SA: CHRBMSISER QBTN

=H o kl
Mot B

B ZRC AP 29
o ETME 28 CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

CAZEYSIEER 28T A2 3,546,381 3,926,299 A379,918
= 161,952
== 129,286
Al 3,255,143

SSEAMS 29 1,571,699 1,981,035 A409,336
= 48,310
Al 1,523,389

LETNS 2 385,122 630,545 N245,423
=S 48,310
Al 336,812

SN2 2EE 121,136 189,253 A38,117

201 et 3| 44,336 62,613 A18,277

01 AtR2tc|bI 44,336 62,613 18,277
OEZAZ FIIZtHE = 11,620
OS2l 20,0002 x 125+ 122 2,880
OXIgX 15,0002 155122 2,700
O=2tl 5,0003 85 +52= 2,080
OZ2HX 11,0002 +x305+ 122 3,960
OMETAME FEH2H| 25 6,040
OF2HA 5,0003 «85+523= 2,080
OZ2HX 11,0002 x305+ 122 3,960
O8N =2 75 6,040
O=F2tXl 5,000 85525 2,080
O&2HX 11,0002 +305+ 122 3,960
OXESTA2 2 = 2,3%
O=F2HX 5,0003 65 +52== 1,300
OZ2HX 11,0002 +85+ 123 1,056
OZUEAZ FE2HX 7 3,144
O==2tXl 5,000 65525 1,560
OZ2HX 11,0002 125122 1,584
OSeA2 FEH2HX 2 3,144
O=F2tXl 5,000 65525 1,560
O&2HX 11,0003 125+ 123 1,584
Oz A2t =22 6,040
O=2tAl 5,0003 85 +52= 2,080
OZ2HX 11,0002 +x305+ 122 3,960
O0ta+=bl 1,240 *4,8002 5,952

206 MH=HI 4,800 6,040 1,240

01 MHZH| 4,800 6,040 1,240
O=NE2ES 4,800
ORFID TAG 5003 +4,8007K 2,400
Octasks 105 5002 +4,800K 2,400




2A:

SHRHMSSRE QBT AR

B ZRC AP 29
e 2EEME 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 72,000 90,600 18,600
02 A+l 72,000 90,600 /18,600
(OEV 72,000
Ooggte A 15,0002 %4,3202 64,800
Ottt I = A 15,0002 +480& 7,200
LETAHS SE2NY 29 64,860 76,370 A11,510
201 223 61,460 72,370 210,910
01 At22t2ltl 3,780 8,750 24,970
OsSA=2AE 2,000 x800F*90% 1,440
oMt EE= 2,000 *B002+90% 1,440
OF 429 coldA 2
300,000 *3H 900
02 s3=gHl 3,300 3,300 0
ONEESetHAHAIAE K2l
275,000& 122 3,300
03 A= EHI 54,380 60,320 N5,940
O=ANZsEZIH 2 23,800
OZAt=&
40,0002 <2A[ 2tx 1601 B+ 123] 15,360
OMgesa7a 29
40,0002 <2A| 2H*43]x 12E 3,840
OS2t M 70,0002 = 10K 700
O=xd I8¢ 500,000 *32 1,500
Oonzd 238 =3 300,000 82 2,400
O=ANS0tel |4 3,780
O=0E 2g
40,0003 x2Al 2Hx30H EHx122] 2,880
OEEE A7 15,0003 65+ 10 900
OQI2sf HAEIE JHzl
21,000,000& *13] 21,000
o=zt A= & 500,000 *42] 2,000
O A 2t=2+ A} 1,000,000& %12 1,000
OSAele A 1,000,000& %12 1,000
OSAHBZ 1,800,000& %12 1,800
203 =4l 1,800 2,000 A200
03 A=A 2= 1,800 2,000 A200
O=AM2t HRFA 2,000,000 *90% 1,800
301 EtE NS 1,600 2,000 2400
11 dALEEIXIE S 1,600 2,000 2400
O=2tEZ I XAESAHA =&l
8,000 x10& »203] 1,600
LETNE NSEHY 2E 18,853 22,268 N3,415
201 er=23y| 6,278 5,878 400
01 AtR2t2|HI 2,350 3,550 21,200




SH: CARBMSIEER QAT A
B ZRC AP 29
&t EENE 29 EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OZA2 0lEeHH 2IZH
2,000& x400% 800
Od= TA2U2 &It
100,000& 108 *13] 1,000
OXtz2elRAR3 MA=E
100,000& x 1223 200
OXNESAA 28 5 15,0003 % 10& 150
ORIZ2 HZE AOIE gtojdlA 2¢)
200,000 *17H 200
02 23244l 3,928 2,328 1,600
O83RE3 3,928
Os=2E A2 (22) 390,000 *1JH 2 390
Os=2E A2 (32) 123,0002 *6IH 2 738
O33N (BS2) 400,000 701 & 2,800
206 =4l 8,415 10,680 N2,265
01 =l 8,415 10,680 A2,265
ot=zdS 2,650
OU=3te 1,500 9004 1,350
OJteelz 80,0003 *152 1,200
OslEaelH 10,000& %1028 100
oMl SHE 3,000& *304 0
OZAMN E=E HI2 150,000& x2E2 300
OFRFID TAG B8 5002 *1,000H 500
OXsSUELED| I+ X
3,000&*1002 300
OAI=8 I8t A 20,0002 *5I4 100
OXtZ A AFRIAIAE 100,000 407K 4,000
OXtz 4 PC 2% XY 475
OdlEA 35,0002 *5I4 175
OII2E 15,000& * 10K 150
Ob*RA 15,000& * 104 150
301 LBENF 4,160 4,160
11 HALAHIXIEZ 4,160 4,160
ORASAT BEAH|
20,0002 x2Z *1042 4,160
= 010l = SR0I=EN2S 161,030 264,490 A 103,460
& 48,310
Al 112,720
201 L2 | 63,750 81,110 A17,360
= 19,125
Al 44,625
01 At 22|l 20,700 26,000 25,300
OHA=EE 20,000
O=E2s H& 2,000&*6,000H 12,000




2A:

=

SHRBMSERSY QST AR

B ZRC AP 29
e 2EEME 29 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 3,600
Al 8,400
OH=d E2=5 M
8,000 *1,0000H 8,000
s 2,400
Al 5,600
OSNHTING] ALY
100,000& *7H 700
< 210
Al 490
03 AH2 I 43,050 55,110 A12,060
OusZ2d 299 34,920
ONEsSIt W=
40,0002 +2A1 2203 1,600
S 480
Al 1,120
OR2NS @2 SY
500,000 +32 1,500
== 450
Al 1,050
OXM=0l 22
40,0003 #2A1 2H192 £+ 163 24,320
S 7,2%
Al 17,024
O3s=F0ts0tel E&
40,0002 *2A12++103] 800
== 240
Al 560
OH=0| 2208 2 =]
150,000 x19& £H+23] 5,700
S 1,710
Al 3,990
O3s=0ts0tel 2 M|
1,000,000 1,000
== 300
Al 700
OIIEEM=SAEM HA
8,130,000& *12] 8,130
S 2,439
Al 5,691
206 =4l 89,600 168,000 AT78,400
= 26,881
Al 62,719
01 =4l 89,600 168,000 AT8,400
O340l 7Y 89,600




2A:

SAHRHMSERE QBT A

=

B ZRC AP 29
Chel: @EEN2 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&A 10,0003 22 %3, 2004 64,000
= 19,201
Al 44,799
oot 8,0002 %3, 200K 25,600
=S 7,680
Al 17,920
301 22N = 7,680 15,380 AT7,700
< 2,304
Al 5,376
11 #AHIXI 2 7.680 15,380 A7,700
OARY NIHZAR S|
8,000 20«82 1,280
= 384
Al 89%6
OXEgsSIt adl X2
20,0002 x20 * 162 6,400
[ 1,920
Al 4,480
LETNZ AIEEFAI2L 19,243 108, 164 /88,921
201 er23| 19,243 20,261 21,018
01 At2teltl 18,273 19,191 A918
ORI AIAE 260,000 * 122 3,120
od - 27| gxE 37,0002 «4LH =122 1,776
O3JI18E)| SXE
40,0002 x10CH =12 4,800
OEW=HI 1,890
O33012 AYorM 2|kt
240,000 7 1,680
Osdl| erd ekt 30,0002 +74H 210
OBAM2ACIES 50,0002 x55+23] *90% 450
Ostda & F2ES
100,000 x65 123 *90% 5,400
od - 2| S5F4
16,5002 x202+ A %90% 297
OXA=I| £2F 7Y
300,000 x2CH*90% 540
2 352484l 970 1,070 A100
oA g™ e 2] 50,0002 x5 250
ogzgsll RAl2ell
60,0002 1CH* 12 720
NEEZM2A2E 233,377 309,637 AT6,260
NN H2ES 80,000 88,674 N8,674
201 et 3| 16,000 13,474 2,526
01 At22t2l] 16,000 13,474 2,526




2A:

SHRBMSERSY QST AR

=

B ZRCAB 29
ool NECHZE (cre:xigl)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
ozYIANd=E 7= 8,880
OFESN 20,0003 *12JH At 123 2,880
OXIgX 15,000 *15JH A= 122 2,700
O&IE 27,5002 x105+ 128 3,300
OVODAMHIA AtZZ 180,000& x 122 2,160
Oo0ta=H| 1,240 +4,0002 4,960
206 M=4| 4,000 4,700 AT00
01 =4l 4,000 4,700 AT00
OKNEeIES 4,000
ORFID TAG 5002 *4,000H 2,000
Ot EXS 108 500& %4, 0004 2,000
405 KHAHF SH 60,000 70,500 210,500
02 =M=l 60,000 70,500 10,500
O&A 60,000
OgEEAN 15,0008 3,600 54,000
Ottt = A 15,0002 *400& 6,000
NECA2 2328 23 41,360 62,800 A21,440
201 L2 40,560 62,000 A21,440
01 AtR2telbl 2,880 14,000 A11,120
O=sN=2E 2,000 *800+90% 1,440
oAt EE= 2,000 +800F+90% 1,440
03 A2 Y| 37,680 48,000 A10,320
OSN2EHI2IY 2 24,900
OLASE
40,0003 x2A1 2Hx200H B+ 123 19,200
OSHItE M= 70,0002 1004 700
Ox=&F&II8d 500,000 42| 2,000
Ooxzd & SRdoIE 28 =28
300,000& *10=] 3,000
O=As0tel 4 2,500
OSHE =& 40,0003 +2A1 2++203] 1,600
OEEE TA+Y 15,0002 «205+3& 900
OSg2ZA=E 3,000
Oog=sd 500,000& *62 3,000
OSAM2tZ=2t AL 900,000& *12 900
OSAelE A 1,000,000& %12 1,000
OSAHBZ 900,000 %12 900
OOICIoE XA 22t
40,0002 *3A|2++243] 2,880
otlsd SEZZ2 S
40,0003 +2A1 2++203] 1,600
301 LeENZ 800 800
11 EAAHIXIRAS 800 800




M E

mm: zzchE 2y
e MRENE2Y (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
O2sZ20Y IHASAR S|
8,0002 102103 800
NACTHZ 2z 29 20,217 24,885 N4,668
201 LBt A 1,567 2,170 AB03
01 At 2H21H] 1,567 2,170 AB03
OR0IZ2 ME AOIE 2loldA 3¢
200,000 *1H 200
OYAMHZE OE 2olMdlA 2
4,500+ 1200 2 54
o=8l Y 220, 0002 *6IH*90% 1,188
O=AIE X 23,0002 62 A*90f% 125
206 24| 6,170 6,075 %
01 MH2HI 6,170 6,075 %
O ELEEES 2,220
ousst= 1,5002%1,0007H 1,500
Odteel= 80,0002 +8= 640
oLI==EIE 10,0002 +8IH 80
OMIIE 2HCc 3,0002 % 150H 450
OEMNELEE 800
OZAME22 HolZ 150,000 x2= 300
OFRFID TAG(E4&) 5002 *1,000H 500
OSSR d2Z X
3,0002 %2002 600
OXZ Al ALQIA|AE 100,000 87H 800
OXZA PC2Y A 500
Odl =4 35,000 10H 350
OIIEE 15,0002 574 75
oA 15,0002 %574 75
O 2817 40,0002 +20H 800
301 YBtE A 12,480 16,640 A4,160
11 #AAHI X 22 12,480 16,640 A4, 160
ORI S A E=4H|
20,0002 x6H 1042 12,480
MATHZ AIESSR 2L 91,800 133,278 A41,478
101 Q14| 69,904 87,903 A17,99
MIIH2ERSEES 69,904 87,903 A17,999
OFA JI2HH B2 63,027
o=z 2,121,102 2%« 122 50,907
O™ AZ A 140,000 «224 » 122 3,360
OXaL 50,0009 2 * 122 1,200
O Mt 50,0002 22« 122 1,200
OYESIHI 636, 3302 x22x23] 2,546
OS2 AH| 78,8809 2% x 122 1,894




SH: CARBMSIEER QAT A
B DEZCNZ 2
ool NECHZE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=NEAE 960,000 x2& 1,920
O4lh 22 JI2ARE= 6,877
Oo=egs 61,107,000 +4. 5% 2,750
(OFafe gt 1= 61,107,000 +3.545% 2,167
OFINLESE= 2,167 ,000& *12.81% 278
(@ME=1b= Y= 61,107,000& *1.75% 1,070
OttiEg= 61,107,000& * 1% 612
201 et 3| 21,896 23,375 1,479
01 At 22|l 20,456 23,375 22,919
ORC1&H| AlIAE 250,000& * 122 3,000
od - 2| Zxt=z 35,000 6L * 122 2,520
O3J1838J| Sxt=z
45,0002 «13CH* 123 7,020
O=tda & H2ES
100,000 x65+ 123 *90% 6,480
OBAM2ACIES 50,0002 x55+23 *90% 450
ou - 247 2=
16,5002 *302+ A #90% 446
OMAS)| 228 7Y
300, 0002 *2CH*90f% 540
02 s3=gHl 1,440 0 1,440
ogzgsll fA2ell
120,000 *1CH* 122 1,440
SHN22Y 227,198 339,775 A112,577
SN RS 74,540 86,514 A11,974
201 Ler23| 10,540 11,314 NTT4
01 At2teltl 10,540 11,314 NTT4
odJtd= = 5,580
(OFS3ON 20,0002« 1274 * 122 2,880
OXIgX 15,0002 %154+ 12 2,700
O0t3a =] 1,240 *4,0002 4,960
206 M=l 4,000 4,700 AT700
01 MZH| 4,000 4,700 AT00
O=AMEel EZ 4,000
ORFID TAG 5002 *4, 000K 2,000
OctaskIs 105 5002 *4, 000K 2,000
405 KHaHE SH 60,000 70,500 10,500
02 A bl 60,000 70,500 10,500
O&A 60,000
OLEtEN 15,0002 +3,6002 54,000
OXge 2t =AM 15,0002 x4002 6,000
SHDAS Sz 0Y 29 43,340 48,800 A5,460
201 fet=3| 42,940 48,000 A5,060




M E

mm: zzchE 2y
ool SHCAA2Z (e &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 AtR2telt] 2,340 3,000 A660
oO=AL2AE 2,000 *800 *90% 1,440
oM EE2 2,000 *5005 *90% 900
03 A2 I 40,600 45,000 A4,400
OSM=ZIEZ2 ]S 2 22,100
OZ A= 40,0003 *2A| 2tx18J1+ 103 14,400
OZHItE M= 70,0002 = 1074 700
O=& &J|1=¢ 500,000 & %53 2,500
OYAI=H2AH 1,000,000 & *33! 3,000
OZz Ny 29 258 300,000& %53 1,500
CEREEIER 1,500
OE=8 =A7Y 15,0002 +20 45 1,500
OSBUALH(I2SY)
500,000 *33| 1,500
O Mat=2F A} 900,000& *13l 900
O=MNaY AL 1,000,000 *12] 1,000
osMAZ 1,000,000 *13]*90% 900
OHIOIHAHOIA 2 12,700
O A=Y 40,0002 *2Al 2+%90x 102 7,200
OZzd W72 =<
500,000 *73] 3,500
O=2= H&E 2,000 *1,0004 2,000
301 LPENZ 400 800 A400
11 SHAAHIXIRZ 400 800 A400
O=2tEZ2 08 NUHASAR =]
8,000& x10H +53| 400
SEHEANS N=gEa 29 22,335 33,215 210,880
201 B2 AL| 2,940 3,130 2190
01 AtR2elt] 2,940 3,130 A190
oZelHe EY 230,000 * 1071 *90% 2,070
O=AD| ElH 280,000 x2JH+90% 504
OSsAEX 23,000 *8EF A x90% 166
OSKQ2I= HZA AOIE cloldlA 22l
200,000 *14 200
206 M= 4l 8,975 16,725 AT, 750
01 =Yl 8,975 16,725 AT,750
oH=zds 2,250
ousste 1,500 *300JH 1,350
O2tEel& 80,0003 102 800
Odl=32u 10,0002 102 100
OAIIE SHE 3,000 *4004 1,200
O&M B85 S 223
150,000 *205 3,000




SA: CHRBMSISER QBTN

B ZRCAB 29
ol SEENEEE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtZ A AFRIAIAE 100,000 * 10H 1,000
OXt=d PC2Y AHM 325
Odll=At 35,0002 *5H 175
OI12= 15,0002 +50H 75
OontRA 15,000 *5H 75
oxze| 40,0002 *307H 1,200
301 EtE2 N = 8,320 10,400 /2,080
11 #AIAMHIXIZ S 8,320 10,400 22,080
OXHESALAL 2s4|
20,0002 x4H =104 8,320
405 KHaHE SH 2,100 2,960 A860
01 AL ESF=H 2,100 2,960 2860
oolEE ARt 300,000 «7H 2,100
SE N AIEEFK2 86,983 171,246 N84,263
101 @124H| 69,904 131,851 AN\61,947
MU ORINZENSES 69,904 131,851 61,947
OFx E5H 2 63,027
oJlzs 2,121, 110 =2F« 123 50,907
OF A S A 140,0002 x2& * 122 3,360
Odel=g 50,000 x2&* 122 1,200
Od=g 50,0002 x2& 123 1,200
Og&EsItd| 636,330 x22H*23] 2,546
OS2 4| 78,880 x2& 12! 1,8%4
OSXEE 960,000 2 1,920
O42EE JI2RE= 6.877
Oo=gg=s 61,107,000& *4.5% 2,750
OAHBEE = 61,107,000& *3.545% 2,167
OFIIRYEE= 2,167,000 *12.81% 278
(@ME=L-t= Y= 61,107,000 *1.75% 1,070
OttEs= 61,107,000& * 1% 612
201 er23| 16,579 18,935 N2,356
01 AtR2t2|HI 16,579 18,935 A2,356
ORIEHl AIAE 220,000 x 122 2,640
od - 27| Zxt=z 30,0002 «4LH =122 1,440
od - 2| &4
16,5003 102+ A *00% 149
o=J188J! &
42,0002 «13CH* 123 6,552
OFAZCIES 50,0002 x55+23] x90% 450
o3Ed % HAES
100, 0002 x65+72| *90% 3,780
834 2 2
11,0003 *12CH*43] 528




M E

mm: zzchE 2y
el SHEM2EY (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
ot &l 250,000 »2CH 500
oMASI| 485 79
300,000 «2CH*90% 540
405 KHAHF SH] 500 20,460 19,960
01 AL =S F=H| 500 20,460 219,960
odEn 500,000 *1CH 500
MESTAA2Y 121,631 98,591 23,040
MESEAR UEEE 36,220 36,276 YaNS§)
201 LBt 4,220 4,276 YANG§)
01 AtR2telb] 4,220 4,276 56
ozYIANd=E 7= 1,740
OseA 20,0003 »201 =128 480
OXIgX 15,0002 60~ 122 1,080
Ootsdl2 5,000 3= 123 180
oota+7=| 1,240 %2,000 2,480
206 =4I 2,000 2,000
01 M=4l 2,000 2,000
(OEV RS = 2,000
ORFID TAG 5003 *2,000H 1,000
OctgEXs 108 500& %2,000H 1,000
405 KHAHF SH 30,000 30,000
02 =M= 30,000 30,000
O&A 15,000& 2,000z 30,000
HESEAS SEZ2 08 29 26,620 27,460 AB40
201 L2 24,240 26,500 N2,260
01 AFR2t2ltl 900 1,200 A300
OCANZEE= 2, 0003 *500+90% 900
03 HAI2HI 23,340 25,300 A 1,960
O=MNEAEZ2IHE 2 16,400
OZ A= 40,0003 2 Al 2t 1401 %1235 13,440
Ot M= 70,0003 +8JH 560
O=& #J|I=2d 500,000 +32 1,500
Ooxz8 =248 =3 300,000 *32] 900
O=AMs0tel 54 640
o=MHE 2o
40,000 x2A1 2t 1JH+83] 640
OSBELALS(A2SY)
500,000 #32 1,500
O M 2t==2k AL 900,000& %12 900
OSAME A 1,000,000& *1=2] 1,000
OSAMZZ 900,000 *12] 900
OO0Iglole A 2,000,000& %12 2,000
301 LEN= 960 960 0




SH: CARBMSIEER QAT A
Y ZTZCAB 2
e AESENEES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 960 960 0
O=2=Z I N2 SAA =&l
8,000& %10 x123] 960
405 KHoHFSH| 1,420 1,420
01 ML ESFSHI 1,420 1,420
OF 0013 E X 1,420,000 *1H 1,420
CESTAS N=Z8A 29 12,949 23,490 10,541
201 2= 1,834 1,945 AN
01 At22t2lt] 1,834 1,945 A1
oZgH &E: 230, 0002 *4IH*90f% 828
O=AD| EU 280,000 *1JH*90% 252
O=ALEX 23,0002 *52 A *90% 104
O=AI E™ 500, 0002 *1JH*90f% 450
OSR2l2 M= AOIE 2toldlA e
200,000 *1H 200
206 M=l 4,875 5,175 A300
01 MHZH| 4,875 5,175 A300
OoU=3=Es 2,050
OusE3te 1,500 «600H 900
Odt=el=z 80,000&*132 1,040
Odll==eIY 10,000+ 112 110
OAJIE SAHE 3,00021+60H 180
O&EM B HEY 150,000 52 750
OXZ A AFRITAIAE 100,000 * 104 1,000
OXsUELY)| E=5EX
3,000 *1002 300
OXMz4d PC 2 XM 19
O= 35,0002 *3H 105
o212 15,0002 *3H 45
oA 15,0002 *3H 45
oxzet| 40,0002 * 107K 400
301 EtE NS 6,240 8,320 22,080
11 dALEBIXNIZE S 6,240 8,320 2,080
OXESAHAL #S4al|
20,0002 =3 »104& 6,240
CESTA2 AIEESRA2a 45,842 11,365 34,477
101 21AH| 34,953 0 34,953
04 JIZtN2 2N S 2+ 34,953 0 34,953
OFA JIZHH B 31,514
OJlEZ=s 2,121,110 x18~ 123 25,454
OFHZAH| 140,0002« 12+ 123 1,680
Od=¢g 50,0002 x1& 122 600
O =g 50,0002 x1& 122 600




2A:

Mm: ZRCqE 29
e AESENEES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE &=l 636,300 1 +23] 1,273
OS2 4] 78,8802 x 1 12& 947
O=ARelE 960,000& *1 960
OCAUESE JIARE= 3,439
Oo=gig= 30,554,000 4. 5% 1,375
(OFaf=y=-t=:E=d 30,554,000 *3.545% 1,084
OFINYEE= 1,084,0002%12.81% 139
ons=sEg= 30,554,000 *1.75% 535
OttEe= 30,554,000 * 1% 306
201 er23| 10,889 11,365 AA4T6
01 At2teltl 10,889 11,365 Yavi¥(¢
ORIl AIAH 250,000 122 3,000
od - 27| XE 25,0008 «3CH* 122 900
O3JI8E)| X=
45,0002 #5CH* 122 2,700
OBAM2ACIES 50,0002 x8E5* 18| %90% 360
O=tda & HLES
100,000 x35 12 *90% 3,240
04 - 247 =252
16,5003 102+ A %00% 149
OMAS)| ARE Y
300,000 x2CH*90% 540
ZUHEA2 2 171,078 117,379 53,699
FUA2 H2ES 48,004 53,879 Ab,875
201 er2 3| 6,404 6.839 A435
01 At2teltl 6,404 6,839 N435
oxJtd= 7= 3,180
(OFESN 20,0002 «8JH 122 1,920
ORI 15,0002 7 12& 1,260
O0t3a+=H| 1,240 +2,6002 3,224
206 MH=Hl 2,600 2,940 A340
01 MZH| 2,600 2,940 A340
O=ENE2ES 2,600
ORFID TAG 5002 *2,600H 1,300
O EXS 105 5002 *2,6007H 1,300
405 AHAHE S 39,000 44,100 25,100
02 =AFbl 39,000 44,100 A5,100
O&A 39,000
OgEtEA 15,0002 %2,4002 36,000
OXgter 2t =M 15,0002 2002 3,000
UM 2E208 29 26,190 30,860 A4,670
201 et 3| 25,710 29,900 24,190
01 At22t2l] 2,880 4,000 A1,120




SH: CARBMSIEER QAT A
B ZRC NP 29
ool ZUHEM2 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsA=2AE 2,000 x800F+90% 1,440
oM 2= 2,000 *B002*90f% 1,440
03 A2 Y| 22,830 25,900 A3,070
OSAHETZ Y 2 16,520
OBASEY
40,0002 <2A[ 2x16IH 2+ 123] 15,360
O2dizte 70,0002 <8 560
Oonzd 238 =3 300,000 *23] 600
CEEEEY ErmE" 1,800
OBASEY
40,0002 x2A1 2++2I 2+ 102 1,600
Oonzd 238 =3 200,000 %13 200
O=sAS0tel SHE =&
40,0003 %2A[ 2+ 11 B+7 3] 560
0SB AL (A2SY)
500,000 <22 1,000
O A 2t=2+ A} 800,000& %12 800
O=M2AL A 800,000 12 800
OSsANBZ 900,000 12 900
O=7dIold M4 450,000 12 450
301 2eEN= 480 960 A480
11 dALEEIXIRE S 480 960 A480
O2ZZ I XAESAA =&l
8,000 x4 x153] 480
BUEAZ MHeEad 28 13,243 18,040 N4, 797
201 fer23| 1,653 1,770 A7
01 AtR2t2|HI 1,653 1,770 A7
oxZgH &4 230, 0002 *5IH*90f% 1,035
O=AII &Y 280, 0002 *1JH*90f% 252
O=ALEX 23,0003 82 A %00% 166
OSRQ2I= M= AOIE 2tolla 2
200,000 *1H 200
206 MH=H| 5,350 7,250 21,900
01 M=4l 5,350 7,250 21,900
ots=1as 1,550
Oousste 1,500 «600H 900
OJteel= 80,000 +7E 560
O == =5 10,00024+92 0
OAJIE SUHE 3,000 100H 300
OkAN 2+ HI 150,0002x22 300
OoXtsusEeell =5 X
3,000& x2002 600
OAl=g JIetA 20,0002 = 10H 200
OXZ A AFRITAIAE 100,000 * 104 1,000




2A:

SHRHMESRS O5C

=

A

Y DTZCAB 2
ool ZUHEM2 24 (SH9 H2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
OXMz4d PC 2 XM 500
O= 35,0002 *10H 350
OIIEE 15,000 +50H 75
OonteA 15,0002 +50H 75
oxze| 40,0002 10K 400
OXEN=E 10,0002 *50H 500
301 EtE2 N = 6,240 8,320 /2,080
11 #AIAMHIXIZ S 6,240 8,320 2,080
OXHH S AL S 4t|
20,0002 x3H =104 6,240
BUEAM2 AIdS =X 2e] 83,641 14,600 69,041
101 e124d| 69,904 0 69,904
M ORNZZ2NSE S 69,904 0 69,904
OFA JIZtM 2= 63,027
OJlZ=s 2,121, 110 ~2F« 1238 50,907
OF A S A 140,000& <2+ 122 3,360
O&d+¢ 50,0002 x2& 12 1,200
oA=& 50,0002 x2& 12 1,200
OE &=l 636,330 x2H +23] 2,546
O%Jt2 &l 78,8802 x2& *12& 1,8%4
OSXZEE 960,000& x2&H 1,920
OCAUESE JIARE= 6.877
O=gld= 61,107,000& 4. 5% 2,750
(@Faksi--t=y=3 61,107,000& *3.545% 2,167
OFIIRYEE= 2,167,0002%12.81% 278
ons=sgs 61,107,000 *1.75% 1,070
OttHEg= 61,107,000 * 1% 612
201 Zet2d] 13,737 14,600 A863
01 AlR2teldl 13,737 14,600 863
ORIEHl AIAH 200,000 * 122 2,400
od - 27| gX= 30,0002 «3CH* 12 1,080
O3JIEEI| Xz
45,0002 #5CH* 122 2,700
ONSsII SX= 50,000~ 1CH* 122 600
Ol &xt= 30,0002 #4CH~ 122 1,440
OFA2CIES 50,0002 x85*12]+90% 360
Ost&3d & B4 ES
100,000 x45+ 123 *90% 4,320
od - 25| S5
16,5003 »202 A +90% 297
OMA=)| 425 7Y
300, 0002 *2CH*90f% 540
SHCN2EE 115,275 127,617 N12,342




SH: CARBMSIEER QAT A
Y ZTZCAB 29
el SUCAH2A2Z (e &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
SN2 NZES 41,138 41,309 A7
201 LB-2AH| 5,298 5,469 A7
01 AtR2telt] 5,298 5,469 AT
OQFIIZtd=E 715 2,520
Oos2X 20,0003 «6IH =123 1,440
OXIZX] 15,0002 601+ 12& 1,080
O0ta+=H| 1,240 %2, 240H 2,778
206 MZHl| 2,240 2,240
01 =Yl 2,240 2,240
O=NE2ES 2,240
ORFID TAG 5002 *2, 24004 1,120
ot EXs 103 5002 %2, 24004 1,120
405 RHaHE=H| 33,600 33,600
02 TN 33,600 33,600
O M 33,600
BT A 15,000 *2,0003 30,000
OZgtEtet M E A 15,0002 x240HA 3,600
SMEME EEz08 29 20,720 24,100 A3,380
201 B2 AY| 20,520 22,200 A1,680
01 A=R2teld| 2,880 4,000 21,120
oOsME2AHE 2,000 *800=*90% 1,440
OENZ =222 2,000 x800=*90% 1,440
03 @At2ZH| 17,640 18,200 AB60
OSMIIEZ NS 29 11,870
O A=Y 40,0002 *2 Al 20+ 120 % 123 11,520
OZItE % 70,000 *54 350
OFEBFHAAHSEZOHY 2,770
OZ A= 40,0003 *2A1 2++3JH* 102 2,400
OZHItE ME 70,000 14 70
OE2d 29 25 300,000& *13] 300
OSg2 A (UZEL)
500,000 *23| 1,000
O=ANS0tel SUE =E
40,0002 *2A1 2tx1Jl*63 480
O Mat==2h A} 720,000& 13l 720
O=MN2Y A 800,000 *13] 800
301 LetENZ 200 400 2200
11 HALAHIXIE S 200 400 A200
OZSEZ 0 HASAHR S|
8,000& x5H+53] 200
SN2 THzEea 2 8,700 9,975 AN1,275
201 B2 AY| 1,425 1,770 A345
01 At22teld| 1,425 1,770 A345




2A:

S
el SMEM2AEY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oZgH &H 230, 0002 *4IH*90% 828
O=ADI & 280, 0002 *17H*90% 252
O=AEX 23,0003 #72F A %00% 145
OIS HMZE AOIE 2toldliA 2¢
200,000 *1H 200
206 M=l 3,115 4,045 A930
01 MHZH| 3,115 4,045 A930
olz2aS 1,020
OUsE3te 1,500 *500H 750
O2tEel= 80,0002 <32 240
Odll==eIY 10,000 *32 30
OAJIE SAHE 3,000 *100H 300
O=AN 242 H 150,000 <22 300
OXstsEeell 9+ EX
3,000 +502 150
OAlSg JIetA 20,0002 +5H 100
OXtZ A AFRIAIAE 100, 0002 *3H 300
OXzd PC 2 A 325
Osll=At 35,0002 *5H 175
OI12= 15,000 +50H 75
OonteA 15,000 *5H 75
oxze| 40,0002 %34 120
OXlEN=E 10,0002 *50H 500
301 EetE NS 4,160 4,160
11 #AIAHIXIE S 4,160 4,160
ONAZAN HEAH|
20,0002 x2E*104& 4,160
SMTNZ AIEEFA2 44,717 52,233 AT7,516
101 @124H| 34,953 42,618 AT,665
M ORINZZENSE S 34,953 42,618 NT,665
OF4 JIZHM 25 31,514
oJlzs 2,121,103 x1& 128 25,4%4
OZH=AHI 140,000& x 12+ 123 1,680
Odel=g 50,0002 x 18 x 122 600
ORd+g 50,0002 x 1123 600
Og &SIl 636,330 x 1223 1,273
OG22 4] 78,880 x 1 x 12 947
O=ArelE 960,000& *1 960
OCAUESE JIARE= 3,439
Oo=gg=s 30,554,000 *4. 5% 1,375
(OFaf= et 1= 30,554,000 *3.545% 1,084
OFIIRYEE= 1,084,000 %12.81% 139
onssEgs 30,554,000 *1.75% 535




2A:

i
0kl
0z
Jon
i3
I
it
0]

B
H
>
il

B DM
el SMEM2AEY (Gt H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OMNEE = 30,554,000 * 1% 306
201 B2 AY| 9,164 9,615 A451
01 At=R2teld| 9,164 9,615 A451
OR01EH| AIAE 200,000& =123 2,400
oY - 20| itz 30,0003 «3CH* 123 1,080
OBIIEEI| UHZ
45,0003 «30H*12& 1,620
OFA2A2IES 50,0002 x9Z+33| *90% 1,215
O3t & HAES
100,000 2+ 12 *90% 2,160
ou - 247 2=
16,5002 * 10 A x90% 149
OHA=)| 228 7
300, 000 x2CH*90% 540
405 XHebE S| 600 600
01 XML =EFSHI 600 600
NAZ okt 300,000 %274 600
2= A2 29 318,018 357,491 AN39,473
2N NZ2ES 109,041 146,715 AN37,674
201 Let23H| 21,041 21,275 N234
01 AtR2elt] 21,041 21,275 A234
OFIItHE 75 8,880
(OFES=IN| 20,0003 =120 At= 123 2,880
OXIX] 15,0003 * 150 At 123 2,700
O& X2 27,5003 *105+12& 3,300
OZ2dA SFAMBIA A2 0|
2,805,000&*12] 2,805
OEHEX XIHBHHUE)| FXIE=>
211,330& =123 2,536
O0ta 7= 1,240% 5,500 6,820
206 =4l 5,500 7,840 A2,340
01 M=l 5,500 7,840 22,340
OENMECIES 5,500
ORFID TAG 500 *5,5009H4 2,750
Ot EX S 108 5002 x5,50004 2,750
405 Xt S| 82,500 117,600 235,100
2 EA7I 82,500 117,600 A35,100
O%AM 82,500
OdBtE M 15,000& *5,000 75,000
OB HIE A 15,000 *500& 7,500
NZLEME 2SEIZE 2H 49,000 52,370 23,370
201 L2 AH| 47,560 50,770 23,210
01 AtR2telt] 3,150 3,500 A350




2A:

B ZRENE 29
SRl RN 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=EN=2E 2,000 *750+90% 1,350
oA EE= 2,000 *1,0005%90% 1,800
03 A2 44,410 47,270 £2,860
OSARETRIBSH 26,030
OYNLE
40,0003 x2A| 2H+220H BH+ 122 21,120
OSHItE M= 70,0003 = 130K 910
O3 ZJ|3l 500, 00021 +55] 2,500
OZ2IY 2YEE 300,00021 53] 1,500
CEVE=NEIRES 4,680
o=#E 45
40,0002 #2A1 2H+30H EH+123] 2,880
OEEE TA+Y
15,0003 125+ 102 1,800
OQRNIEZME 29
2,500,000& *4=] 10,000
O AM2tZ=2t AL 900,000 *12] 900
O=K2 & AL 1,000,000& %12 1,000
O=NBL 2,000,000 * 12 %90% 1,800
301 22N = 1,440 1,600 A160
11 HAIMHIXI R 3 1,440 1,600 A160
O=st22 8 NHSALA S|
8,000& 10 x 183! 1,440
2==EM2 N=EEA 29 21,319 27,230 A5,911
201 L2 3,899 4,280 A381
01 AtR2telbl 3,899 4,280 A381
OZgH &4 230,000 *107H*90% 2,070
O=A| &l 280,000 *4 74 +90% 1,008
O=AEX 23,0003 *302F A *90% 621
ORUSHHAOIE 2toldA 7Y
200,000 =1k 200
206 =4I 9,100 12,550 A3,450
01 =4l 9,100 12,550 A3,450
CFECEE 3,100
OusEate 1,500 *900H 1,350
O2tEel2 80,000 202 1,600
OdlE3eld 10,0002 152 150
OAIIE SHE 3,000 «100H 300
O ANE=E HIOIZ 150,000& 102 1,500
ONEUELI| F2EEX
3,000& #3002 900
OXtZ A AFRITAIAE 100,000 * 107K 1,000
OX= 4 PC2S XM 1,300
OBl Al 35,00021+2071 700




SA: CHRBMSISER QBTN

M B3NS 2E
SRl RN 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2I2E 15,0002 +20H 300
OobtA 15,0002 *20H 300
OZ Xl HHUCH 100,000 *2H 200
O8] 40,0003 »20CH 800
301 LEIE NS 8,320 10,400 22,080
11 dALEEIXIZE S 8,320 10,400 /2,080
OXESAHA ES4A|
20,0003 x4 »104& 8,320
2= A2 =SR2 138,658 131,176 7,482
101 @12A4H| 113,852 105,181 8,671
04 JIZtN2 2N S 2+ 113,852 105,181 8,671
OFA JIZ2HHl 24 103,538
OJlzs 2,121,110 +3& 128 76,360
Od A ZAH| 140,000 x32~ 123 5,040
Odcl=g 50,0002 +x3& * 12 1,800
O =g 50,0002 x3& 122 1,800
Og&E=Itd| 636,330 x3E *23] 3,818
OS2 4| 78,8803 x3& 12 2,840
OSX=EIE 960,000 3 2,880
O&lX= 3,000,000 *3& 9,000
o4l 282 JIHRE=3 10,314
Oo=gig=z 91,658,000 4. 5% 4,125
(@Faksi--t=y=3 91,658,000 *3.545% 3,250
OFIIRYEE= 3,250,000& %12.81% 417
(@ME=1= = 91,658,000& *1.75% 1,605
OuttiEg= 91,658,000 * 1% 917
201 =3 24,806 25,99 A1,189
01 AtR2t2l] 24,806 25,99% AT1,189
OSEH AIAH 300,000 * 122 3,600
od =) gx=
45,0002 #5CH* 122 2,700
O3JI¥E)| L&
50,0002 +0CH* 12 5,400
OHIbGl Xtz 25,000 =8 =122 2,400
OBAM2ACIEZS 50,0002 x8E*22] *00% 720
O=tda & 2SS
100,000 x85* 12 *90% 8,640
od =2=J S5Y
16,5002 *302+ A *90% 446
on2AC|IZS 50,0002 x45+23 *90% 360
OMASI| 425 7€
300, 0002 *2CH*90% 540
HH2LIH( N 2B YSISER 2ECAMH) 1,974,682 1,945,264 29,418
= 161,952




SN SNBIYSSRR QST
M HHSHAH|(CHBBMSEES QBT AR
SERRIEESS(T (Shol: &2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 80,976
Al 1,731,744
ol 2| 1,605,826 1,551,240 54,586
= 161,952
T 80,976
Al 1,362,898
i Fals]l 953,208 923,579 29,629
101 2124d| 856,820 830,933 25,887
03 SR (RIAHL) 22X B4 856,820 830,933 25,887
OAIA 222 B&(LI2 1622) 46,643
OPII=t= 2,865,802 x1H+12& 34,391
o2s5Y 143,290 x1H 123 1,720
O¥dAx=Y 50,0003 x1Z 123 600
Ox=222Y 200,500 x 15+ 12& 2,406
OFAHZ AL 140,000 x1H» 123 1,680
OEARE 50,0002 x 1« 12& 600
OJEs= 20,0003« 1H 123 240
OYE IOt 1,432,940 15 +23] 2,866
OS2 4| 106,960 1520 2,140
OX=A2E S22 B (U= 988) 732,315
OPI=1= 2,422,920 188+ 123 523,351
Oo2s54+4 121, 14024 %18+ 128 2,167
O&eise 50,0003 *18Z *12& 10,800
Ox=222Y 171, 7003 *18H + 12& 37,0838
OFAHZ A 140,0002 x 18 =123 30,240
OE=E2aY 50,0002 18K+ 12& 10,800
ONE=Y 80,0003 *18Z »12& 17,280
OYE IOt 1,211,460 *18H +23| 43,613
OHIE 4| 91,600 * 18 *20 32,976
OFA B2 B4 (03 688) 77,862
OPIE== 2,306,460 x2H * 12& 55,356
oz2ssY 115,320@x2H + 128 2,768
O&eise 50,0003 *2H 123 1,200
Ox=22=Y 164,200 x2H 122 3,941
OZAHZ Al 140,000 x2%H 123 3,360
OEARE 50,0003 x2F 123 1,200
oxs=4Y 80,000& x2ZF »12& 1,920
OZEFOt| 1,153,230& x2H *23] 4,613
OdItE 4| 87,6003 x2Z«20 3,504
M HAIFRE3S %,388 92,646 3,742
M SR (RIAHN) 22X BEa284=2 S %,388 92,646 3,742
O=2RA 4UEE s J|12ARY2 %,388




SH: CARBMSIEER QAT A
M HHSHAH|(CHBBMSEES QBT AR
el QIEE2E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oo=gg=s 856,820,000 4. 5% 38,557
(OFaksi--t=y=4 856,820,000 *3.545% 30,375
OFIIRYEE= 30,375,000 *12.81% 3,892
onssEgs 856,820,000& *1.75% 14,995
Ot HEEE 856,820,000 * 1% 8,569
BBEM 2 HZAIRY AER2H(2E) 183,764 176,179 7,585
= 46,272
[ 23,136
Al 114,356
101 @124H| 165,180 168,469 6.711
s 46,272
== 23,136
Al 95,772
03 SRA(RIH )22 U2+ 165,180 168,469 6.711
OZR222T Ex(03 988) 165,180
oJlzs 2,422,920 x4 B 12 116,301
= 46,272
== 23,136
Al 46,893
O2s+8 121, 1403 x4« 123 5,815
Odcl=g 50,0002 x4~ 12 2,400
Oxz=22=¢ 200,000 «4H = 12& 9,600
OF A S A 140,000 x4 x 122 6,720
OS=22=g 50,000 x4 * 122 2,400
OJE=g 40,0002 x4 * 123 1,920
Og&E=Itd| 1,432, 9403 x4 B 23| 11,464
OgIt2 4| 106,990 x4 & 20! 8,560
WM HsEE=S 18,584 17,710 874
M SRH(RIAHL) 22N 2EERRES S 18,584 17,710 874
OZRA 4UEE = JI2RE= 18,584
Oo=gig=s 165,180,000 4. 5% 7,434
(OFaksi--t= =4 165,180,000 *3.545% 5,8%
OFIIRYEE= 5,856,0002%12.81% 751
ons=sEgs 165,180,000 *1.75% 2,891
OttEs= 165,180,000 * 1% 1,652
BBEM 2 HZAIR AE2H (M) 183,764 176,179 7,585
= 46,272
[ 23,136
Al 114,356
101 @124H| 165,180 168,469 6.711
s 46,272
s 23,136




SH: CARBMSIEER QAT A
M HHSHAH|(CHBBMSEES QBT AR
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 95,772
03 SRH(RINHS) 22X 2+ 165, 180 158,469 6,711
O3RM2Z2X B4 (03 988) 165, 180
(OFIE== 2,422,920 x4F = 12& 116,301
ax 46,272
& 23,136
Al 46,893
o=2s5+Y 121, 1403 4G+ 128 5,815
O&eise 50,0003 x4 123 2,400
Ox=22Y 200,000 x4H«12& 9,600
(@FSELF= ] 140,000 x4 123 6,720
O=Ex&RE 50,0003 x4 12 2,400
oxsx4Y 40,0003 *4F 123 1,920
OZEZOt| 1,432, 9403 x4 B +23] 11,464
Ot &M 106,990 x4 20 8,560
M HAIRE3S 18,584 17,710 874
M SRHE(PIHS) 22X BE28E2 S 18,584 17,710 874
O=R& 4JUEEz J|ARE= 18,584
o=ed3 165,180,000 *4. 5% 7,434
OAHZEE=Z 165, 180,000& *3.545% 5,856
OWAEE= 5,856,000 *12.81% 751
(@NE=350=: = 165, 180,000 *1.75% 2,891
O& B = 165, 180,000 * 1% 1,652
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SH: CARBMSISES BASS
B WESAAH|(CHREMSEES BASAR)
s Jl=dhl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H| 181,494 197,498 16,004
Jl=23H] 181,494 197,498 A16,004
201 er23| 165,654 170,098 N4,444
01 At2teltl 55,686 59,640 A3,954
OJlI=eLEAY| 4850, 000211724 7,650
O32I(0IEZY)
8,000« 19 7 x 12 12,768
OtI2F=E 900
OS2l 15,0002 1~ 12& 180
OXIgX 15,0003 40~ 123 720
od - 27| xE 9,7%
o= 50,0002 x10CH 12 6,000
Oodg=a 57,000 =2 * 122 1,368
OME=2t 53,0002 +3CH* 122 1,908
OUl=ZdSsHH
40,0002 *1CH* 12 480
oHlall gxtz 6,048
o= 24,0002 1104~ 128 3,168
Oodg=a 24,0003 4CH =122 1,152
OME=2t 24,0002 +6CH* 122 1,728
O3JI8E)| X= 17,304
o= 53,0002 x20CH~ 12 12,720
Oodg=a 41,0002 +50H+ 123 2,460
OME=2 59,0003 +3CH* 12 2,124
OR&dE 0182 1,260
o=z, Az =2
35,000 x3CH =122 1,260
2 S5=24g4l 109,968 110,458
oRER=s 1,800
Ooget 4003 +250S 122 1,200
OSJI 2,500 205122 600
OXstR3 30,0002~ 12& 360
OZEFUE 2= 100,000 *3CH* 123 3,600
odIIe=a 63,598
OJlz2e3(=2) 6, 3703 200K« 12 15,288
onsgea(=
1003 %17, 260KW+ 12 20,712
OJl2es(dE=z
6, 3703 x30KW+ 12 2,294
onszgea(adg
10084%2, 088K+ 123 2,506
oJlEes (M=
6,3703 » 140K+ 12& 10,702




SH: CARBMSISES BASS
B WESAAH|(CHREMSEES BASAR)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EEREVEES
100& *10, 080KW= 122 12,096
Odotre=s 12,720
o= 1,000,000& ~12& 12,000
Oodg=a 30,0002« 12& 360
Ok =2 30,0002~ 12 360
ol R3 15,780
oz 1,205,000 128 14,460
odg=a 50,000& * 122 600
OkNg=2 60,0002~ 12& 720
O3320ILt0] ArE=
40,0003 #2CH+ 123 960
oelgu 2FJ| totl
50,000 +6LH* 122 3,600
OnsSRLRGS (=2 4 AH2E)
1,700,000& %12 1,700
OAEEBIS X 1,440
OHEARINI FAI2e 1,440
APV 3,500, 0002 *1CH*8% 280
&= AR 4,500,000 *1CH*8% 360
&A= AR 5,000, 0002 *2CH*8% 800
OXtHLH|(58) 4,900,000& 1CH*90% 4,410
202 O4H| 12,240 20,400 A8,160
01 2L AL 12,240 20,400 28,160
OJI=&H| 20,0003 *x17H+32« 128 12,240
203 =] 3,600 3,600
M EASHLRFAH 3,600 3,600
OJIEH (202! 0l3t) 300,000 * 122 3,600




